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1. Choose the correct option to complete the
sentence:

SLC/23

Birds build nests in trees,

(A) their %IEI
(B) his Bc iy
©) its Eﬁ
(D) her

2. Fill in the blank with the correct modal
verb:

You have done a bit more to
help instead of leaving everything to me.

(A) can
(B) could
(C) will
(D) shalt

3. Replace the underlined verb with the
appropriate phrasal verb from those given below:

Please postpone the decision till Monday.
(A) putoff E- E
(B) putout ‘ 'm-{‘l ;
(C) pull off 1}%
(D) pull out

4. Change the following question into a
statement:
Aren’t you older than your sister?
(A) Youhave been older than your sister.
(B) Your sister is older than you.
(©) You were older than your sister.
(D) You are older than your sister.

5. Change the following statement into a
question:
They had been waiting for her for two
hours.
(A) Weren't they waiting for her for two

A

¥UAKBTEAABERADBBAADBRZOIABROAICIBONRAREOBROTBEOAITEARNSERRBI RS B H kK

o

6. Selectthe word which is similarin meaning
to ‘Evidence’:

(A) Papers

(B) Documents @{Jm
(C) Accounts ﬁ-ﬁ
(D) Proof [=]:

7. Replace the underlined word with the
appropriate idiom from those given below:

He visits me occasionally.
(A) off an on
(B) off the cuff
{C) off the record

(D) onthe go

~

8. Change the voice:
The mason is building the wall.
(A) The wall is being built by the masomn.
(B} The wall-building is being done by
the mason.
(C) The mason built the wall.
(D) The wall built by the mason.

9. Complete the following sentence:
She sea-shells by the sea-shore.

(A) sales .
(B) sells Eil m

{C) sale %-ﬁ

(D) sell

hours? . .
10. What is th f th d1 ?
(B) Hadn’t they been waiting for her for atis the synonym of the word languid
two hours? (A) Laughter
(C) Won’tthey wait forher for two hours? ®) Lazy
(D) Hadn’t they waited for her for two (© Lamp
hours? (D) Litter
[=] 5 [=]
=
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11. Choose the correct option to complete the *

sentence:
Itravel tomyoffice_____ the metro
railway. .
(A) by @’H.'-E
(B) under ) El
(C) through )
(D) with

12, Fill in the blank with the appropriate
preposition from those given below:

We shouldrely ourown efforts.
(A) about

(B) in

(C) on

(D) with

13, Complete the following phrase with the
appropriate word.

A in a China shop.
(A) horse

(B) cat

(C) rabbit

(D) bull

14. Fill in the blank with the correct modal
verb:

Since you broke his camera, you
buy him a new one,

(A) should {jﬁl
B) would @%
(© will )
(D) may

15. Replace the underlined verb with the
appropriate phrasal verb from those given below:

Experts are trying to discover the cause of
the accident.

(A) find under
(B) findin
{C) find out
(D) find inside

HAKRBPEAAFEA AR AR IR FOATARAAAARARAVTIRBAROISBAATRR AT AR AISAANS B AKX

e
n
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16. What does the word severed mean?

(A) Severe

(B) Cut-off E]%"EI
(C) Excess iy
(D) Diminish [=]:

17. Replace the underlined verb with the
appropriate phrasal verb from those given below:
The thieves escaped with the stolen money.
(A) getting away
(B) gotin
(C) getaway
(D} gotaway

18. Selectthe word which is similarin meaning
to ‘Discrepancy’:
(A) Diffuse
(B) Variety
(C) Variance
(D) Analogy

19. Replace the underlined verb with the
appropriate phrasal verb from those given below:
Please remove your socks before you enter

the room. E]# E

(A) bring out TN K
(B) bring down %ﬁ
(O) take off '
(D) takein

20. Changethe following sentence into passive
voice and select the correct answer:
I will consult the resources at the archives
and undertake a tour across the city.

(A) Theresources will be consulted at the
archives and a tour across the city will
be undertaken.

(B) Theresources will be consulted at the
archives and a tour across the city
undertaken.

(C) Theresources will be consulted by Iat
the archives and I will undertake a
tour across the city.

(D) Theresources will be consulted by me
at the archives and a tour across the
city will be undertaken.

Please Turn Over
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21. Complete the following idiomatic *

expression.
Make while the sun shines,
(A) hurrah .
(B) hay E"-'J,_.;E‘
© hast EE
(D) hatrick )

22. What does the expression ‘Janus headed’
mean?

(A) Talkative

(B) Hypocritical
(C) Critical

(D) Argumentative

23, Fill in the blank with the correct word:

The medical reports got at the
diagnostic centre.

(A) swapped ;@{JE
®mms B
(O stunt :
(D) swish

24, Choose the correct option to complete the
sentence;
The cooked by him.
{A) food was
{B) foods was
{C) fooding was
(D) food were

25, Rewrite the following sentence in the
comparative degree:
This is the least expensive shirt.
(A) This shirt is not so expensive,
(B) This shirt is a little expensive.
(C) This shirt is less expensive.
(D) This shirt is too much expensive.

L E X ECRCE X R AR R SUECE 2 R R R R R KRR AR R KR KR - RR - R R R KR R R R R R

26. Arrange these groups of words in their
correct order to form a Jogical sentence:
M. to protect the Hasdeo Aranya forests
N. from coal mining
O. Alok Shukia led a successful campaign
P. known as the “lungs of Chhattisgarh”
(A) PNOM
{B) OMPN
(C) NPMO
(D) MONP

27. Choose the correct option to complete the
sentence: (oo
Sita her mother. Sn-#% k

{A) resembles [=]:

{B) have resemble
{C) has resemble
(D) resemble -

28, Change the following sentence into an
affirmative one:

The two brothers are not unlike each other.
{A) The two brothers like each other.
(B) The two brothers are like each other.
(C) No two brothers like each other.

(D) Thetwobrothers, they likeeach other.

29. Replace the underlined word with the
approptiate idiom from those given below:
Considering the urgency of the case, we
must act quickly.

(A) Infact

(B) In lieu of E{J[ﬂ
(C) In view of H ﬁ
(D) In course of [=l: '

30. Fill in the blank with the appropriate
preposition.
We will let you know about the process
due course.
(A) at
(B) in
(C) upon
(D) for

SLC/23-A-3190085/04
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31. Out of two numbers if the first one is
increased by 20% and the second one is decreased

31, ¥ RGIT MG AABEF 20% % FACT GR
oo 20% BT T TRLITL AT 2 | 299 @

by 20%, they become same. The ratio of the first GGt w&am@fﬁa Sl
and second number is .
(A) 3:2
(B) 2:3 : Eﬁ © 1:1 E{ﬁ
D) 3:5

32, ‘FALCON Shield-2023’ is a military 32. (AR ‘FALCON Shield-2023° <

exercise participated by which countries? VZOH S FARE ?
(A) India and USA (A) ©iF® e & Ty
(B) China and UAE \ AT s
(C) China and Russia (B) Bt 0 7w e o
(C) Bin e =t

(D) India and UAE
(D) ©IFS GR NI WA ARG

33, A 40 litres mixture of milk and water
contains milk and water in the ratio of 3:2.
10 litres of the mixture is removed and replaced
with pure milk and the operation is repeated once
more. At the end of the two removal and

33. 40 o o= ¥ 7 74 @ wE WS
3:2| €3 fEd A 10 FivlE fed g W
o gy e w0l 25| @ Tl e wine
GPHIF A1 25 | TG N 7Y 8 TET Seple T8 ?

replacement, what will be the ratio of milk and (A) 31:9

water in the resulting mixture? . B) 4:1
(A) 31:9 E{JE ©€) 7:3
®) 4:1 By ©) 24:13
C 7:3 5

(D) 24:13

34. Who has been awarded the ‘Pen Pinter 34, (32024 ‘(o {9011 79T oS T 2

Prize’ 20247 (A) SEFRe! AN ﬁm
(A) Arundhati Roy (B) Al 3@7‘ T
(B) Samjana Thakur (©) wfe wiE ERS
(C) Anita Agnihotri D) W aﬂi@[

(D) Jhumpa Lahiri

35, A ftrain crosses a man, standing over a
150 m length station in 10 seconds and crosses the
station in 22 seconds, then the speed of the train is

35, 93 GF 10 Cees 150 [ tiedw g
FOHItTE T WeimH e Ue® SfeTT FF
G 22 GRS CHDCE o 304, SR God

AU ABERAKBRAAKR B AKX DRI RAVARONNPAIRCIVTRRARAIXRBDTITIHARBRE AR B R DB R KK

(A) 45 km/hr I —
g ggm’hf (A) 45 @/ﬂs
k/hr ®B) 50 Beefiiy=e
(D) 55 km/hr (C) 60 Refi/ws
D) 55 feehi/as
[s] X [=]
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36. Who won the Norway Chess Super

Y
N

36. G RS 05 79 HHTrS, 20249 Redi

Tournament, 20247 .
(A) Fabiano Caruana {,IEI AR
(B) Hikaru Nakamura Eﬁ (A) TR IE%]EI
(C) Gukesh Dommaraju : (B) faai wish@l 5t ﬁ
(D) Magnus Carlsen (©) =t CeivigE [=]; i
(D) SIS et

‘ 37. Howmany squaresdoes achessboard have?

37. << WIS T sweg Qe

e |

(A) 65 (A) 65
@) 32 B) 32
(C) o4 (C) 64
(D) 99 D) 99

38. % RwmEET uﬂ%l% @it 37 ®E
(G 9,216 51 SII TREZ T | 63 AT Toe- =g
AreiE o6 RS bt et | e} i e o

38. A group of students in a class of a school
collects ¥ 9,216. The amount contributed by each
student is equivalent to the number of students in
the class, Find the number of students in the class.

(4) 66 [El4|E (A) 66
(B) 48 rﬁ R B
| (C) 96 [=): b 4 -
(D) 36 o) 36

39. In which of the following districts of West
Bengal is the maximum amount of Tobacco

39, AP (@ @ FEET Siis Sy
77

| produced? [®]21[6]
(A) Birbhum (&) e h—?ﬁ
‘ (B) Bardhaman ®) CIE ]
(C) Cooch Behar ©) R
(D) North 24 Parganas (D) ©ea 24 sigsml

40. Which one of the following is the capital of 40. TxFERe @R woEe TS

Jordan? oM
(A) Havana &)
®) (B) ==
(C) Lagos (©) =t
(D) Oslo @) A

PREEBREAKPEREERAXDPERFARAIATTITRRCCARBCROBROOTERADE A DD N B KK XK
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41. Find the smallestnumber whichis divisible
by 7 and when divided by 8, 12, 16 leaves 3 as
remainder in each case.

(A) 140 E{JE
@ 147 S
©) 154 T
D) 133

42, A, B and C together earn ¥ 300 per day,

while A and C together earn ¥ 188 and B and C
together earn ¥ 152. The daily earning of C is

(A) T40
(B) 68
(C) T112
(D) T 150

1 . 494
43. The value of -5-+ 999Ex 99 is
(A) 99000 (=] (=]
(B) 9900 E‘%
(C) 98000 '
D) 95000

44. Which of the following noble gases is used
in the treatment of cancer?

(A) Helium
(B) Argon
(C) Krypton
(D) Radon

45, What will be the ratio of simple interest

AEKBBEAEADBAAXBRAX IIFFIOAARXCOOOSITATRBORIRED D

GET IT ON

A-7

*
*
¥*
&8
®
¥*
%
B
®
*
*
&
B
*

41. 7 Trm Rrerey o Hees skt Fefl st 3t
8, 12, 16 Ta <t w=tet @ifs (g 3 wioieR A

(A) 140 Eli"jEl
(B) 147 Py g
(©) 154 El_ﬁ
(D) 133

42. A,B 8 C foxem o (e 300 Bist SoiteA
% FEISRIFA S CqI0q 188 TR 4R B 6 C 3T
& 15251 RS BHRi o | C-99 (RS Soeq 7o
€ e
(A) 40 Bt
(B) 68 Bist
(© 11259t
(D) 150 BiF

1. 494
43, £+ 999X 993 T
(A) 99000
(B) 9900
(C) 98000

(D) 95000

44, 9@ RET GmEEE bR Ige

Erks oo 1y pi
(A) TRfer E]-ﬁ
®) el Elﬁ
(C) Tesbm
(D) A

45, T SLTETT TN W YA 6 1T IR

earned by certain amount at the same rate of 9 IF-49F FE G SO TS S ?
interest for 6 years and that for 9 years? (A) 1:3
(A) 1:3 ®) 1:4
B) 1:4 © 2:3
©€)2:3 D) 3:4
D) 3:4
o
[=] [=] Please Turn Over
==
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46. Recently, which of the following UT/State
was declared to achieve foll functional literacy
under the ULLAS (Nav Bharat Saaksharta

1
- -}

Karyakram)? =
(A) Ladakh #E
(B) Chandigarh Elﬁ
(C) Kerala
(D) Maharashtra

47. Attorney General for India is appointed by
(A) The President
(B) The Prime Minister
(C) The Chief Minister
(D) both Houses of Parliament

48. The cost of 12 belts and 30 wallets is

GET IT ON |
I Google Play

46, ol i TR CRGIR (e
HYE)/ME] 2 GF F @ P (RERS AFF!
@) g aFwE S AwReE wEEE S
IR

(A) @R @#m
(B) v8IsiE Eﬁ
(C) =ttt
(D) R

47, ©E0ed SUBH @it 1 7[ Fge = e

(A) FEAS
®) g
© 1@

(D) F0E O FF

48. 12 6 &% @ 30 T euieha v 8,940 Bid

¥ 8,940. What is the cost of 4 belts and 10 wallets? AT 56 10T @ -
(A) ¥2,780 () 278051 A
®) T287 E#E B) 2,870 Bit
(C) 2,890 % , -
@) T2,980 -l (C) 2,890
(D) 2,980 Bt

49. Norway, Germany and Finland reported
which disease on fur farms and mammals?

(A) Anthrax

(B) Avian Influenza

(C) Foot and mouth disease
(D) Bluetongue

50. IfA’sincomeis25% morethan B’s, thenby
what percent is B’s income less than A?

HAKBBAAXDTEAXDEIAGRASAOICTECOCAO R ROV ERARTERLATEAANE D XD E kKD R KKK

(A) 20%

(B) 25%

(C) 30%

(D) 15%
=] K [=]
=
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49, RS, T G FeRepiE R LT 93]
AR e N @iis Rl s

(A) SO (=] [8]
(B) «fexH Tmgwe! aﬁ
(C) =6 o= catel Fert
D) et et

50. 3 A-9 Y B9 (T 25% @™ W S=
B9 9T A9 (U7 WA TO T AT

(A) 20%
(B) 25%
(C) 30%
M) 15%
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51. Select the one which is different from the * 51, FGIFRGTR TG @D SHHE QTR
others in the following numbers: : &6 o scte
324, 441,289, 326 BIE & 324, 441,289,326
(A) 324 *"-‘ﬁ (A) 324 (5131
®) 441 == ®) 441 e
(C) 289 : (C) 289 Elﬁ
(D) 326 (D) 326
52, Micron is set to establish India’s first 52, SHUSY 49% CIRTSISY 201G NGFIF ieiH
semiconductor plant in which state? A0S 4TS (3 AT ¢
(A) Tamil Nadu (A) OifEFT
(B) Gujarat *
WEAB
(C) Maharashtra ®)
(D) Uttar Pradesh ©) F=g
(D) Tesare

-

53. Deficiency of which vitamin causes night

53, oW SO Wi s @6 e

blindness?
: A) foBiRm
(A) Vitamin A E'Jﬁ ((B; %ﬁﬁa;
(B) Vitamin B s
(C) Vitamin C (C) Tebim B
(D) Vitamin D (D) feoifm e

54, Where was the ICC Men’s T20 World Cup
2024 held?

(A) USA and UAE

(B) Oman and Yemen
(C) USA and West Indies
(D) USA and England

55. The ratio of the prices of two products X
and Zis 1 : 3. If the price of another product Y is
340, which is the average of the prices of X and Z,
then the difference between the prices of Z and X

AURBERKABRBRABEXR AR BRIACITRAOOAETEIAANREAIBTIIRTITTERAAR RSN AASD

54. 2024 SRFF o3 H20 Revwrt ciem
sfbe z@fReE
(A) BT, 1. 9. QREE. 0. 3,
(B) ‘ST % T
(C) BB. <. 4. G G5 Fow

O Bmaamye  [EEE

| CIE:

55. B TG X qR Z-99 LI Seie 2= 1: 3
i S GFH Y Y-49F T 27 T 40, @6 X @R
Z-G9 G 51C, ORA Z g X-9F FA AL
o7

is (A) T20
(A) ¥20 B) T60
(B) ¥60 © T30
(©) T30 D) T40
(D) T40
..m E Please Turn Over
=
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56. In a class, the ratio of the numbers of boys
and that of the girlsis 11 : 9. If30% of the boys and
20% of the girls passed the annual examination,
find the percentage of passed students of the class.

*

56. < cfdts e e AFTTARGITSAC
11:9 | A IEME 30% O3 AR 20% AT
QR =it ez ot Fefe | E]-#E]

(A) 28:5% ] ) ] (A) 28:5% )
% gﬁ% Eﬂﬁ (B) 25:5% ' Elﬁ
& 2aam : (C) 245%

D) 23-5%

57. Which of the following is an example of
Bluetooth?

(A) Wide Area Network
(B) Local Area Network
{C) Personal Area Network
(D) None of the above

57. 54 @FG FHY-«< Srigd e
(A) oTRe gt Ehend
(B) Gl afvm civend
(©) “ieime affm Ehend
(D) Sitaa @=IbE 71w

-

58. What is the name of the first ‘private’ train
run by the subsidiary of Indian Railways, IRCTC?

58. SIS (F@SEE FRAN JF IRCTC ==t
bifere =9w “alfZret’ G AW Hie

(A) Tejas Express E{]E (A) cou

(B) Swamn Shatabdi L] A

(C) Gatiman Express Eﬁ (B) ::W‘iﬁlal

(D) Duranto Express (C) SINostie «TSieet
(D) 759 e

59. According to the Indian Constitution, who
has the power to declare an Emergency?

59, oo A SR SR TN O]
GiE FAIT HIS! FIT GE?

(A) Prime Minister J—
(B) President ?; m E{I
(C) Chief Justice ) Eﬁ
{D) Parliament (C) 2w RS

(D) 7®

60. X can finish a job in double speed of Y. Y
alone can finish the job in 24 days. If they work

60. X 93 FIw Y-9F Rad sfecs 77 Fa0e
1Y G T 24 Wi F900 2 1S G

AU KBEAUEBEARXBBRA BRIV AACTBRIAARE BT BAETROIAAERABB RS B E KD P KK

together, in how many days they can finish the G A T WA B 1T A1
job? '
(A) 8days O(;; ?f;;[
(C) 10 days (D; 12fum
(D) 12 days
[l ¥ [u]
=5
=5
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61. Amal and Bimal started 4 business. Amal
invests ¥ 500 for 9 months and Bimal invests some
money for 6 months. Iftotal profit is ¥ 69 and Bimal
gets T 46 then the amount of investment of Bimal is

(A) % 1500 ElyE
@) 300 Fihr
(C) T450 Eﬁ%
(D) 600

62. The average weight of the first 11 persons
amongthe 12 personsis 95 kg. The weightof the 12th
personis33 kgmorethanthe average weightofall the
12 persons. The weight of the 12th- pérson is

(A) 128 kg

(B) 97.45kg

(C) 128.75kg

(D) 131kg .

63. A tankercanbefilled by two pipes A and B
in 60 min. and 40 min. respectively. How many
minutes will it take to fill the tanker from empty

state if A and B fill it together? .
(A) 24 min. !EI#E]
(B) 26 min. =
(C) 22 min. Eﬁ
(D) 28 min.

a1
64. Areductionof 125% in the price of oranges

enables a purchaser to get 2 more for I 6. The
reduced price of a dozen orange is

(A) X450

@) ¥5

(C) ¥ 350

(D) T 550

65. In which museumis the ‘Mona Lisa’ kept?

XA KBREATRENER R XK Y L kL R L R R R R R R R R - R kLR LA T T X

GET IT ON

Google Play
V]

61, = 6 et G IS 9F I | T
IR T 500519tk Rt 63118 oy g biet
A Tt | 9 GIi6 =11 69 Gt T GaR G (40F

R 46 51t i o R =1fe SiRiem—
(A) 1500 Bt |
B) 3005 %lEi
(C) 450 Bt -

62. 12 o+ J&T TP &V 11 B G GG
95 falt | 12 o Jfers ST 12 54 JTe 4I% S&d
(T 33 Tt (I 2 12 o e eam—

(A) 128 fait
B) 97.45 Fealt
() 128.75 Tt
(D) 131 falf

63. 90 TIFT A 8 B 4 #ifgs fir ©f wae
ellErcet 60 f3ifG '@ 40 G s =iiest | <ifet sz
TIFEBEE A S B 1 #iigs G301 992 I S8
TA0S F© T MR ?

(A) 24 Fif 6
(B) 266
(€) 226
D) 28 TG

64, ETERgS T 12:% S AR @
GOl 6 BIIH 216 (I T A | 1 O SeTieeigs

e 3T = .
(A) 4505 E#E'
® st S
(C) 3-505
(D) 5-50 B

65. ‘CIAfErI (SR SR A R e

(A) The British Museum Ay T RE .
IS L .- u——
(D) The Uffizi Gallery © 7 3
(D) v TfRfE snenifa
E- 5 Please Turn Over
E5=

SLC/23-A-3190085/11



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

66. Who painted ‘The Starry Night’?
(A) Pablo Picasso _—
(B) Vincent Van Gogh {]EI
(C) Claude Monet ?‘Eﬁ

{D) Salvador Dali

SLC/23

67. Which state organised National Yoga
Olympiad (NYO) from 18th to 20th June, 2024?
(A) Madhya Pradesh
(B) Karpataka

(C) Haryana
{D) Jammu and Kashmir

68. The speed of a boat in still water is 8 km/hr
and the speed of the stream is 4 km/hr. Find the
time taken by the boat to go 48 km down stream.

(A) 12 hours _

(B) 4 hours ;ym
(C) 8 hours ﬁ%ﬁ
(D) 6 hours [=:

H]

69. In which state is ‘Boita Bandana
celebrated?

(A) Odisha

(B) Assam

(C) West Bengal
(D) Meghalaya

70. The preduct of two numbers is 4,332 and

3
their quotient is e Find the sum of the numbers.

(AABERABTEAABRRAACIFTBITTIOAVONACFIREONLBFIRCRABPAVCAOIBAABTRAANBEERR D AKX

GET IT ON

A
R

Google Play
66. T i 7P’ & GITE 2
(A) ARE e
(B) TS i 1ot _
(C) % 76 E_#EI
D) Aeremg o - Eﬁ

67. G ST 183G — 200G, 2024~4 TS
@t SfFEE (NYO)a3 S Feaee ¢
(A) T
(B) wiow
(C) T
(D) T e I

68. 3% et @l (N siferast 8 /= w
@Iee? siferast 4 R/ | @von s 48 /R
@S CNADT TS 7T #1910 ©f R Fn

(A) 129%;
(B) 49°%!
() 8%
(D) 67!

69, T35 I (I FICST Sifere = e

(A) eft -
(B) SIS E#El
(C) =Afswae | CIE
(D) R

70. W6 ALY @ePd 4,332 992 ©IHE
3
Sl | ARBmfoq R Fefw =t

38 3
(C) 143 (C) 143
D). 149 D) 149
[=] ;]
E b |
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71. The boys of a school can be arranged in I 71, G0 REEs Qams ToE RYS DakFE
%-"5,;?110?46(1““%“78 axflcli)also_mtt;)]a so}llds?uare; x 15,189t 2456 AR ASE T G SIHT HiGE
ind the least number of boys in the school. & FEs TTRe A I § RoEE S99

(z(;; gzgg (35 ? wou vy i o Rl ) (Sl 5
= (A) 4900 =
(C) 3600 El.!}% ®) 2500 El%
(D) 6400 (C) 3600
D) 6400

72. Two trains travel in opposite directions at
36 ken/hr and 45 km/hr and a man sitting in slower
train passes the faster train in 8 seconds. The

72. 9% RSl G < 36 R/ e
oL 45 foRy/90! siferee ot @ e T3S
T G 96 9% I Tof Wl Gee

length ‘Zit;msf)asn;“ train is 8 TS e ST | oo 7o (G 0 1
®) 100m (A) 80 RibE
() 120m B) 10056
(D) 180 m (C) 120 %=
(D) 180 f5"

73. The LLCM and HCF of two numbers are
2175 and 145 respectively. If one of the numbers

73. T WY FAALG. @ 570 JYUF 21756
145, T @B 1 725 77 g oo WA v

is 725 then ﬁnd the other number. [&] {J@ o il |
(A) 425 ill% (A) 425
B) 315 [=]: ®) 315
(©) 435 (©) 435
(D) 450 D) 450

74. Jude Felix is a famous player in which
field?

74, TG GEleTH (I (RS ST (1S CATRITIG 2

LR R AR E BACE R RRCE R e RUR R R R R R R R R R KRR R - R R - R R R R R R R

(A) Volleyball @) . E{]E
(B) Tennis ® [t
(C) Football © T
(D) Hockey D) T
E E Please Turn Over
[=
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75. The three new criminal laws in Bharatiya * 75, SROE-RIRRCHSR oD Ao GRemIR

Nyaya Sanhita came into effect from : iz I 9 TEE
(A) July 1,2024 (A) 1R, 2024 RE
(8) June 1,2024 oR|o OEO)
(C) Tune 24, 2024 a?ﬁ (E) ;:1_" 22(2);4‘;‘; i?ﬁ
(D) April 1,2024 [=: © 247, ' [=);

D) 1 g, 2024 (/T

76, Which sport has the maximum number of 76. @F (A1 Ten e RoW@ @M RUF

players on either side? CATRTIATG SIeZe 90 2
(A) Rugby A) TR
(B) Water polo
(© Baseball (B) SHBIT cAen
(D) Soccer ©
(D) FBE
[=]3]E]
CIE

77. 45T QRS G @Rt e gl wi)t
AR JEHGT (AR GFH LAt 7Hrey el
AR | 11 STRA G CIATSE ST SRR @R
17 O R (RETIE VI (A0S Sreeiags IR | GHiG

77. In a class of 45 students, all students
participate in one or both of the two games i.e.,
Chess and Badminton. 11 students participate in
both the games whereas 17 students participate

only in Chess. How many total students participate T Ra JTCRFG (I SIeeies e

in Badminton? ' .
(A) 17 students ((-1;; g g $ .-E=i-IE
(B) 11 students (©) 28T TG irﬁ
(C) 28 students D) 6% EI; I=:

(D) 6 students

78. Whois known as the ‘Father of Geometry*? 78. ‘winfea Tme A =ifEHe &2

EAKBEAAXBRAAPRE AN GEIPEATRAINAADREIVOTRBITRTESRATTEARANBIRAAKIEXRARS

(A) Aristotle (A) SpifEs55e
(B) Euclid
(B) THC
(C) Pythagoras
D) Kogles (©) foxstiam
(D) AR
[m] 1 =]
=],

SLC/23-A-3190085/14



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

AddaR47)|

A-15
79. When was University of Calcutta : 79. fel R T RSy aiofe
tablished? mﬁa{
N S(A) 1857 ElE * ? [=]3) (=]
& (A) 1857 L
(B) 1800 I=]: (B) 1800 Eﬁ
(©) 1847
(D) 1900 (C) 1847
(D) 1900

80. Which Union Ministry hosted the ‘Divya
Kala Mela’ fair?
(A) Ministry of MSME
(B) Ministry of Social Justice and
Empowerment
(C) Ministry of Defence
(D) Ministry of Science and Technology

80. COIN (e TEeiler ‘g <l Gt e
e ?
(A) 99, 9. G 3, WHNTH
B) AWIES THEEE 8 FAoRW T
(C) effssm! Tgeiew
(D) = @ agfe Tgeiem

81. Whichof the followingis the longestcell of 81. kRS @Fb Mo ey @R

the human body?
! (A) WY 1R
(A) Nerve cell ,m_#m .
(B} Bone cell %ﬁ (B) SR (P gjj,?]
(C) Muscle cell ' © cift @ sk
(D) Blood cell (D) 7€ =1

82. First Indian Woman to swim across the

82. duxeigen el R sfiew A g

KEUBEAADERADEAR R CGIPEATTRIAV TS ORABIRCOREIERACTIAAIR BB RANRR

English Channe%— _
(‘(g; :rr:EISVIaltllljheljee (A) =S 1y
(C) Bhakti Sharma (B) S JoiAg
(D) Anita Sood () ofes =t
(D) siwe!
.m E Please Turn Over
Ei B" |
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83. A 250 meter long goods trainis runningin * 83, & 250 fbig o1%r =AsHE 33 Fesfie/=e
33 kmy/hr. In a parallel track, a 200 meter mail train
is running in a speed of 60 km/hr in the same
direction from behind. How much time the mail
train takes to cross the goods train after it reaches

to the goods train? B
(A) 2 minutes E{j
®B) 1 mimte .,

(C) 1.5 minutes Eﬁ
(D) 3 minutes

84, Ganga water is being shared at Farakka
with which one of the following countries?

(A) Nepal

(B) Bhutan
(C) Bangladesh
(D) Myanmar

85. The Hindusthan Republican Association

* QU R < AN G B TR B
8 3y wiogd 60 Fefe/we @l (v iF gH

84. TS (AT 5T T AL GF0! T (ie)
I, @ Afer oifos, & =

(A) o] E,;IE
(B) gBW B
(C) =T Ea%
(D) AT

85, 19247t (% ervsin feetRfEiTSpie R

AAABEAAKBERAER AKX APRBTIATRAIVAAAIRGANRBOBTIBRATIAEAAKIIAKESR

was founded in 1924 by E%‘E =S TafeEm e
(A) Bhagat Singh 3-% (A) ©s1s B
(B) Chandra Sekhar Azad ~ L8: ®
(C) Jogesh Chandra Chatterjee ’ ¢
(D) Sachindra Sanyal (© DT
(D) *iBie AT
By
86. What are Jatakas? 86. TS A7 E'ﬁ
(A) Stories of Ram and Sita (A) T 6 oK & [=;
(B) Poems written on birds and animals (B) =R e elifizr P et <Rt
(C) Stories of the pervious births of the
Buddha (C) Jrad 7FeTid 8
(D) An Epic D) 9 W
jok-{0
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87. InwhichyearSikkimbecameafull-fledged * 87, w3 P etares «olb i FE =Afae

state of India? x e
(A) 1947 (A) 1947
3= mEm i o 2y
a C) 1975 .
(D) 1985 Eﬁ ((D; 1985 Eﬁ

88. A bike 2m long crosses a 22m long bridge

: > €198 : 88, 2 [bw =791 ¢ IRT 22 Fow =14t @
in 0-8 sec. At what speed in km/hr was the bike

G 0-8 GRS Hhog (F | @b et

travelling?
(A) 30 km/hr Rofifa%m v
(B) 108 km/hr (A) 30 Rhi/=s
(C) 60 km/hr B) 108 Rfi/Te
(D) 25 km/hr (C) 60 =hifes
D) 25 ™R/

89. CTBT is a term associated with 89. CTBT Fsfii¥e @i it Ty

(A) Nuclear Weapon E'{IE (A) “RaHRT oy _ )

(B) Central Taxes E-ﬁ ®) o E%“ﬂ
(C) International Terrorism  [w]s R sty
(D) None of the above EIC); o P FPJ“ Elﬁ

90, Which institution has developed the 90. AT MAW S S UDGAM (AT

AAABRREARDEEAARRAR PRIV ANARAOATRAARORAAVARKARRIAR AT BARR S

UDGAM portal, recently seen in the news? @ oS o St
(4) RBI A) g, R,
(B) NABARD EB; b =R
(©) SIDBI ;
(D) SBI (©) o o, 7. R =i,
(D) <. R =R,
[xl % =]

Please Turn Over
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91. Whofounded the HinduCollege of Calcutta *
in 18172

(A) William Carey E!_’;IE
(B) William Jones Eﬁ

(C) Raja Rammohan Roy
(D) Henry Louis Vivian Derozio

92. The SI unit of radioactivity is
(A) Cobalt
(B) Decibel
(C) Ampere
(D} Becquerel

93. Four bells ring at an interval of time 45
minutes, 1 hour, 1 hour 15 minutes and 1 hour 30
minutes respectively. At 12 noon 4 bells ring
together. Calculate the time when will the bells

ring together again. .
(A) 3 am @{JE
® 3pm e
(C) 4am
(D) 4pm

94. Which country launched the ‘Cleanup to

KUK BDAERBEAABT AR OIIPEAATSNTRIRIRSTITAOIBRBREAIBATLRAEARBRARE A ADB B RKN

GET IT ON

Google Play

91. 1817 e TR B IT1E (7 &

P2
(A) T i _
(B) R T )
(C) Hrat FNGIA A Ei?%

(D) AR o3 fofomim fifers

(A) RIS

B) e
(©) <oifEE
(D) L

93, B 95t 45 A6, 1 9%), 1 9% 15 Rft ¢
1 9%t 30 R s e @& 12 S Wil
GFHCE AR A A T TR e ot Fefy
TGN
(A) 3am
(B) 3pm
(C) 4am
(D) 4pm

94. @I o Teenet § i @Rifee «ifeest Bl

Clean Energy’ plan? FEE?
(A) Tndia A) ©iFS (B
(B) USA B %
© Ta (B) e el [=:
pan C) Wil
(D) Germany (
(D) =i
=5 =]
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95, Which of the following is not the unit of * 95, vg @A *f&g T 772

energy? | E%IE
4) = (=15
(A) Joule et
i ®) G :
®) Kelvin oflo ® i
(C) Electron-volt s % EGA-CO
(D) None of the above [=]: (D) Toia @IAlE

96, Acid rain is due to increase in atmospheric
concentration of

(A) Ozone and Dust
(B) CO,and CO
(©) SO, and CO
(D) S0,and NO,

96. TN @B TG s T SIS B
TH—
(A) ST&IT @ gferit
B) CO,93:CO
(C) SO, 4R CO
(D) SO, 9% NO,

97. What percentage of numbers from 1 to 70 97. 1 (4F 70~99 IG§ =oTq Toaf AT

have 1 or 9 in the unit’s digit? ) GO S S 1 5al 97 E&l;
&) gf’? E#E A) 5% a%
®) 25% Eﬁ ®) 25% [=l:
(©) 20%

(D) 30% (C) 20%
D) 30%

98. 10 &= I «FG I 20 M Ta0@ ")
10 T4 AT 50% T FiE (=TS G | 1 g 0

98. 10 workers can complete a job in 20 days.
After 10 days, 50% workers leave the job. How

AU EABEAADTREARBEAX GBI FADTAROAAIRRFTAOTRRABRTIRRANTREAABRERASTEAEE R K

many more days are needed to finish the job? wRe Tofe TG FME?
(A) 20 (A) 20
(C) 15 ©) 15
=136 Please Turn Over
=
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sions EREE

99. A gottwice as many marks in science asin
English. His total marks in English, Science and
Mathematics is 180. If the ratio of his marks in
English and Mathematics is 2 : 3, what is his marks

A-20

99, A3(E0e 79 797 o Rww siw fRed
T TR | O1E 30T, e e g (it 79w 180,
T R e SIE Al THEE TS 21 3T, OF

*

*
®
® REiee 7 Fe? .
in Science? E#E ::: (f)@;:ﬁ E:‘]E
T : oy
(A) 40 -ar ﬁ & (B) 60 Eﬁ
(B) 60 I=: & © 70
(D) 80 ;
®
100. Thename ofthe cyclone ‘Remal’ was given I 100, < O TFRIG ‘EIeT 93 TR FERE?
by which country? . 8 (A) Qm .
(A) Thailand @{jﬁl o ® 1 @#E‘
(B) Bangladesh ﬁ o Eﬁ
(C) Oman [=: o (C) &
(D) Sri Lanka P (D) ezt
£t
*
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DO Ni EN BOOKLET UNTIL. YOU ARE ASKED

2023
TEST BOOKLET TEST BOOELET SERIES

English, General Studies and Arithmetics
Time allowed:'l% hours
Full marks : 100
Answer all the questions.

Questions are of equal value.

Serial No. 3190086 Roll No.:

Signature of the CMW&:

INSTRUCTIONS -

Candidates should read the following instructions carefully before answering the questions:

1. 'This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the Special Answer-Sheet supplied for the purpose.

J .
‘ ﬁéf;’q,@ya,
3. Before you proceed to mark in the Answer-Sheet in response to various items in the Test Booklet,

you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle comesponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle {multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each wrong answer.

7. There are blank pages at the end of this Booklet for Rough Work. v

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Choose the correct option to complete the
sentence:

SLC/23

I travel to my office the metro
railway.
(A) by Db
5 o
(C) through
(D) with

2. Selectthe word whichis similarin meaning
to ‘Evidence’:
(A) Papers
(B) Documents
(C) Accounts
(D) Proof

3. Replace the underlined verb with the
appropriate phrasal verb from those given below:
Please remove your socks before you enter
the room.
(A) bring out
(B) bring down
(C) take off
(D) takein

4, Replace the underlined verb with the
appropriate phrasal verb from those given below:
The thieves escaped with the stolen money.
(A) getting away
(B) gotin
(C) getaway
(D) got away

5. What is the synonym of the word languid?
(A) Laughter

®) Lazy %ﬁ]@
(© Lamp E:
D) Litter

6. Choose the correct option to complete the
sentence;
The
(A) food was
(B) foods was
(C) fooding was
{D) food were

cooked by him.

SLC/23-B-3190086/02

v
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[=] 34 [=]

7. Fill in the blank with the correct modal
verb:

Since you broke his camera, you
buy him a new one.

(A) should
(B) would
(C) will
(D) may

8. What does the word severed mean?

(A) Severe

(B) Cut-off %;;,]EI
(C) Excess ﬁ
(D) Diminish [=]

9. Replace the underlined verb with the
appropriate phrasal verb from those given below:

Experts are trying to discover the cause of
the accident.

(A) find under
(B) findin
(C) find out
(D) find inside

10. What does the expression ‘Janus headed’
mean?

(A) Talkative

(B) Hypocritical
(C) Critical

(D) Argumentative

11. Replace the underlined word with the
appropriate idiom from those given below:

He visits me occasionally. :
(A) off an on E-
(B) off the cuff E]ﬁ
{C) off the record
(D) onthe go
]
F]
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12, Replace the underlined word with the ¥  17. Replace the underlined verb with the
appropriate idiom from those given below: appropriate phrasal verb from those given below:

Considering the urgency of the case, we Please postpone the decision till Monday.

must act quickly. (A) putoff

(A) In fact %E (B) putout

(B) Inlien of Eﬁ (C) pull off

(C) In view of (D) pu]_l out

(D) In course of

18. Fill in the blank with the correct modal
verb:
13. Complete the following sentence: .

She sea-shells by the sea-shore. helo i Yt::dT have d_one a bit more to
(A) sales elp instead of leaving everything to me.

(B) sells (A) can .E E
{C) sale (B) could ;gyﬁ
(D) sell (C) will (&

(D) shall

14. Fill in the blank with the appropriate 19. Fill in the blank with the correct word:

preposition. :
We will let you know about the process The medical reports got ___ at the
due course. diagnostic centre.
(A) at (A) swapped
(B) in (B) swiped
(C) upon (©) stunt
(D) for (D) swish

15. Rewrite the following sentence in the 20. Choose the correct option to complete the

comparative degree: sentence:
This is the least expensive shirt. Birds build nests in s.
(A) This shirt is not so expensive. (A) tITeir E.
(B) This shirt is a little expensive. B) EllS Eﬁ
(C) This shirt is less expensive. © its
(D) her

(D) ‘This shirt is too much expensive. _

21. Change the following statement into a

AEUABREABREAABIA X ORI EBREIROVRRERCOANTOIROTAREROBAARNDERRRE AR R AKX

16. Arrange these groups of words in their duestion:
correct order to form a logical sentence; They had been waiting for her for two
M. to protect the Hasdeo Aranya forests hours.
N. from coal mining (A) Weren’t they waiting for her for two
O. Alok Shukla led a successful campaign hours?
P. known as the “lungs of Chhattisgarh” (B) Hadn’t they been waiting for her for
(A) PNOM two hours?
(B) OMPN %@El (C) Won’tthey waitforherfortwohours?
(©) NPMO ' ﬁ (D) Hadn’t they waited for her for two
(D) MONP & hours?

E% Please Turn Over
3} =
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22. Complete the following idiomatic

expression.
Make while the sun shines.
(A) hurrah
(B) hay DR
(©) haste Elﬁ
(D) hatrick

23. Fill in the blank with the appropriate
preposition from those given below:

Weshouldrely our own efforts,
(A) about

(B) in
(©) on

(D) with

24. Changethefollowing sentence into passive
voice and select the correct answer:
I will consult the resources at the archives
and undertake a tour across the city.

{A) Theresources will be consulted at the
archives and atour across the city will
be undertaken.

{B) Theresources will be consnlted at the
archives and a tour across the city
undertaken.

(C) Theresources will be consulted by Iat
the archives and I will undertake a
tour across the city.

(D) Theresources will beconsulted by me
at the archives and a tour across the
city will be undertaken.

25. Choose the correct option to complete the
sentence:
Sita her mother. @ E’
(A) resembles Eﬁ
(B) have resemble
(C) has resemble
(D) resemble

AUEBRAXKBRBAARIA A DB GREEEFIAVEEEROOTRLARAXRRLTBEAEERABT R ADT I R NEK

26. Change the following sentence into an
affirmative one:

The two brothers are not unlike each other.
(A) The two brothers like each other.
(B) The two brothers are like each other.
(C) No two brothers like each other.

(D) Thetwobrothers, theylike each other.

=y
27. Change the voice: Eﬁ
The mason is building the wall.
(A) The wall is being built by the mason.
(B) The wall-building is being done by
the mason.
(C) The mason built the wall.
(D) The wall built by the mason.

28. Complete the following phrase with the
appropriate word.
A
{A) horse
(B) cat
{C) rabbit
(D) bull

in a China shop.

29, Change the following question into a
statement:

Aren’t you older than your sister?

(A) You have been older than your sister.
(B) Your sister is older than you.

(C) You were older than your sister.

(D) You are older than your sister.

30. Selectthe word which is similarin meaning
to ‘Discrepancy’:

(A) Diffuse %ﬂ
®) Variety SE
(C) Variance
(D) Analogy

=
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- 31. The average weight of the first 11 persons
amongthe 12 personsis 95kg. The weightof the 12th
personis 33 kg more than theaverage weightofall the
12 persons. The weight of the 12th person is

(A) 128kg
(B) 9745kg =z
(C) 128.75kg /’!’%ﬁ
D) 131kg =]

32. Where was the ICC Men’s T20 World Cup
2024 held?

(A) USA and UAE

(B) Oman and Yemen
(C) USA and West Indies
(D) USA and England

33. Which Union Ministry hosted the ‘Divya
Kala Mela’ fair?

(A) Ministry of MSME

(B) Ministry of Social Justice and
Empowerment

(C) Ministry of Defence

(D) Ministry of Science and Technology

2

I=]

34, Norway, Germany and Finland reported
which disease on fur farms and mammals?

(A) Anthrax

(B) Avian Influenza

{C) Foot and mouth disease
(D) Bluetongue

¥
tn

(¥R KBEAXREAXABREA KR DGBREIRBERBARRRBRAAONTIRITREEEIBROIBARABRAASERRETEENK

SLC/23-B-3180086/05

31. 12 = Jfeq oy 2429 11 S 50 6o
95 el | 12 oF e o 1257 I 9% oo
AT 33 ot =f =z 12 ox IfeT eom—

(A) 128 fai
(B) 97.45 et
(C) 128.75 it
D) 131 Rslf

32. 2024 WREH 4z B20 Rt o
e Zrfe ¢ gg@
(A) T®. 1. 9. qRTT. 9.7 ﬁ
(B) 'S «3% ST [=l

(C) T, A, @, G} SIS 3T

(D) 8. @, 9. TR IEVE

»

33, (P CRRIH SR A =l CoTl s SHERIge
FrafeE ¢
(A) <, &, <L, B, T
B) e TRe @ Hrer YEEew
(C) ARt wEelew
(D) Reai @ agfs Sl

34, 6w, W 9 Reeie w4 i @<
TR SRR @ @iteld el stame

(A) SpRaE %g@
(B) afa Tgwe! Elﬁ
(C) '8 2a (i

D) = e
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35. X can finish a job in double speed of Y. Y
alone can finish the job in 24 days. If they work
together, in how many days they can finish the

job?

(A) 8days _ %ﬁ]'ﬂ
(B) 16days Eﬁ
(C) 10 days

(D) 12 days

*

35. X @3 e Y-92 Rad sifers g T90e
A | Y <t 1Eb 24 T $00 it | ol @ i
0 T F© T IS0 AR

(A) 8=
B) 16T
(C) 107a
O) 127

36. In which museum is the ‘Mona Lisa’ kept?
{A) The British Museum
{B) The Louvre
(C) The Metropolitan Museum of Art
(D) The Uffizi Gallery

36. ‘G (I SngEes SNl SR e
(A) W fafo= RisRmw

(B) W eq .
(C) W GrBIAG FiefEmas o Wit
(D) w ©ffe st

37. Which institution has developed the
UDGAM portal, recently seen in the news?

(A) RBI

(B) NABARD
(C) SIDBI
(D) SBI

37. A=foT MIAW BT AP UDGAM (oAffte
I ffSH (ol TwEE?
(A) 59, R =%,
(B) 7AE
© <. w1, f6. 3. =%,
@) 7. R 9=

e

=]

38. Whofounded the Hindu College of Calcutta
in 18177

(A) William Carey

(B) William Jones

{C) Raja Rammoehan Roy

(D) Henry Louis Vivian Derozio

38, 1817 = TeeroT &Y e & afed
FAA?

(A) Bfemie R

(B) Bferm caret

(C) et TN AT

(D) G =% Tofom fermiftre

*
¥*
®
B
*
*
B
®
*
*
&R
®
*
*
®
L
&R
&
®
®
&
®
4
-
&
L
e
&
B
B
&
8
Lo
L]
&
®
B
®
B
&
&
Lo
¥*
%
&
B
*
*
®
R
*
*
®
®

=]
I % %
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39. 7% Refog® @7 i 36 BRI/ @
w45 BRI/t sferast o @ 9k Aweifs
T GF 0 OF e Foolle TE G

¥
3

39. Two trains travel in opposite directions at
36 km/hr and 45 km/hr and a man sitting in slower
train passes the faster train in 8 seconds. The

* ¥

length (EfAt;msf)asn;er train is B % 8CRHeSomwE | Toals 7o Gba trd =
(B) 100m Elﬁ ®-s0e
© Dom B) 100 o=
(D) 180m (©) 12070
D) 180 o=

40. In which of the following districts of West
Bengal is the maximum amount of Tobacco
produced?

40. PR (O T RS OiNE Seslg
B Y

‘¢

(A) Birbhum (@) A %@
(B) Bardhaman (B) T4 Eﬁ
(C) Cooch Behar (C) pfae

(D) North 24 Parganas (D) ©eq 24 A7

41, Which of the following is the longest cell of
the human body?

(A) Nerve cell
(B) Bone cell
(C) Muscle cell
(D) Blocd cell

=]

42. A proup of students in a class of a school
collects ¥ 9,216. The amount contributed by each
student is equivalent to the number of students in
the class. Find the number of students in the class.

() 66
(B) 48
(C) 96
D) 36

SLC/23-B-3190086/07

AAABBARBBAARREAA DRV RBIBUARRBIBRAITRATBTAEIBYBAANBBARABRAEAARRE X

=

41. FafERe Rt T=emeE e @R ?

(A) =R 13
®) = @1
© R @R
(D) 7€ T/

£, @6 EeE  Ft @Fie 9= 29
(NG 9,216 5191 Sl ez 9 | €3 Aro o 2
SN OO RS bl 7 | 68 iMa neii T ©f

@
(A) 66 %?EI
@ 48 s
(©) 96
D) 36
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43, Amal and Bimal started a business. Amal
invests ¥ 500 for 9 months and Bimal invests some
money for 6 months. If total profit is ¥ 69 and Bimal
gets ¥ 46 then the amount of investment of Bimal is

(A) T 1500
(B) 300
(C) T450
(D) T 600

44, A 40 litres mixture of milk and water

contains milk and water in the ratio
10 litres of the mixture is removed and

with pure milk and the operation is repeated once
more, At the end of the two removal and
replacement, what will be the ratio of milk and

water in the resulting mixture?
(A) 31:9
®B) 4:1
© 7:3
D) 24:13

45, Micron is set to establish India’s first

semiconductor plant in which state?
{A) Tamil Nadu
(B) Gujarat
{C) Maharashtra
{D) Uttar Pradesh

46, Who painted ‘The Starry Night’?
(A) Pablo Picasso
(B) Vincent Van Gogh
(C) Claude Monet
(D) Salvadoer Dali

SLC/23-B-3190086/08
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43. = @ e ol il oF FIEW | WWE

(A) 1500 Bt
(B) 30051
(O) 450 %1t
(D) 600 Bt

A TD 500 BT 32 et 6 Mo &g Ry o
=R T | I GG 1S 69 TRl 2T R G (RTE
Rt 46 51 <A w3 e A% srafgem—

44. 40 75 == fifde d Y @ atER e

(A) 31:9
B) 4:1
() 7:3
(D) 24:13

3:2] €% fimd @ 10 FoR fe o e
eI gy Bifdre <= 2o | ¢ Tl A e
TR T 28T | A TRt 1Y e EETd Sstie Te ?

&

45, SIS YUV GO 2% NiSHEH FieH

TA0S 2FO (TN D ?

%glil (A) OIffEE

Elﬁ @) ww™lo
(C) =g
(D) Teseive

AEABEAAKBTBAKLEAXRDIOIPRRPANBBIGVRTAACTCRIBBIRDBAEBIA KRB B R B B AKX

46. T B 7% & T
(A) A= P
B) RGeS i ot
(C) %3G
D) Fereng e
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1 494 1 494
=+999——x99 —+999°""x99
47, The value of 5 999 495><99 is 47, 5 495>< e I
(A) 99000 (A) 99000
@) 9900 %}]E] (B) 9900
(C) 98000 E]ﬁ (C) 98000
D) 95000 (D) 95000

48, Attorney General for India is appointed by 48. 053 WG GHIEE 919 7R e e

(A) The President (A) FRAfS

(B) The Prime Minister B) ol Eﬁ]@

(C) The Chief Minister ﬁ
©) @ =

(D) both Houses of Parliament
(D) A ooy TF

49, The boys of a school can be arranged in
15, 18 or 24 equal rows and also into a solid square.
Find the least number of boys in the school.

49, <% ROFEs Yo T YT RS
15, 18 941 2410 Aifre ARG I YR OWES[E
s asioiae et o9 @ Rwem susics

(A) 4900 oo BiY 9z ©f [dfm st
(B) 2500 %ﬂﬁl (A) 4900
(C) 3600 El;@ ®) 2500
(D) 6400 (C) 3600
(D) 6400

50. 3 WIAICAIes T Istwa e

50. Howmany squaresdoes achessboard have?

L R R BCRCE B EUECE B RUECE X e RUR - KRR R - R - R R R - R R R R R - AR R R e R e R R e R

) 65 (A) 65 B
(B) 32 B) 32 y ﬁ
(C) 64 (©) 64 [=]

D) 99 @) 99

Please Turn Over
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51. A train crosses a man, standing over a
150 m length station in 10 seconds and crosses the
station in 22 seconds, then the speed of the train is

(A) 45 km/hr
(B) 50 km/hr %5]@
(C) 60 km/hr Eﬁ
(D) 55 km/hr

52, In which state is ‘Boita Bandana

celebrated?
(A) Odisha
(B) Assam
(C) West Bengal
(D) Meghalaya

53. In a class, the ratio of the numbers of boys
and that of the girlsis 11 : 9. If 30% of the boys and
20% of the girls passed the annual examination,
find the percentage of passed students of the class.

(A) 28:5%
B) 25:5%
(©) 24-5%
D) 23-5%

54, Ganga water is being shared at Farakka
with which one of the following countries?

(A) Nepal

(B) Bhutan %EIE-I
(C) Bangladesh E[ﬁ
(D) Myanmar

55, The cost of 12 belts and 30 wallets is

AEABBAADDAAXGTBAX DRI IANRBRICAAIVAAIRARSBRBTEARRE AR KD D KA DR K ¥k

" e

B-10

51. 9% G 10 G 150 o tieds s
IR BT ROl oW IS ey FE
TR 22 (A0S COR B e 0, iz Gafod
SS9 ==

(A) 45 Fefifas
B) 50 fFshi/=e
(©) 60 Fe=fifae
(D) 55 [ef/as

52, ‘03B I (I FCET TS we
(A) fn %glij
(B) S Elﬁ
(C) ~Foaas
D) GREE

53. b (TS Teie e AT TRYIA GYAS
11:9 15 AT 30% TR AT 20% AFS
ANFT AN T o® 92 @S WoTE Four
QAR A FECE o e IRt |

(A) 285%
B) 25-5%
(C) 245%
D) 23-5%

54, SIS AT SR NG KCEAH G0 T (S
Tz @ effSr T oifbes, @i ==
(A) @Al
(B) 2o
(C) AT
(D) MFTE

55, 12 5 376 '8 30 T SM=AHI N 8,940 Bl

3 8,940. Whatisthe costof 4 beltsand 10 wallets? & = 4§ 725 @ 10T euiEEE wo T ¢
(A) 32,780 (A) 2,780 i Egﬁl
(B) T 2,870 (B) 2,870 B : ﬁ
(©) T2,850 ' St [5]
(D) 2,980 Bt
ERE
=
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56. IfA’sincomeis25% morethanB’s, thenby
what percent is B’s income less than A7

(A) 20%

(B) 25% ;

© 30% R
@) 15% Elﬁ

57. CTBT is a term associated with
(A) Nuclear Weapon
(B) Central Taxes
(C) Intemational Terrorism
(D) None of the above

58. Qut of two numbers if the first one is
increased by 20% and the second one is decreased
by 20%, they become same. The ratio of the first
and second number is

(A) 3:2
(B) 2:3
C1:1
D) 3:5

59. Which state organised National Yoga

Olympiad (NYQ) from 18th to 20th June, 2024?
(A) Madhya Pradesh

(B) Karnataka %Eé"

(C) Haryana E
(D) Jammu and Kashmir

60. The ratio of the prices of two products X
and Z is 1 : 3. If the price of another product Y is
¥ 40, which is the average of the prices of X and Z,
then the difference between the prices of Z and X
is

(A) T20
B) T60
(©) %30
(D) 40

SLC/23-B-3190086/11
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56, I AT ¥ B-9F (I 25% QN W &
B-99 9iF A9 (IS ©o9dl 99 9 7
(A) 20%
(B) 25%
(C) 30%
®) 15%

57. CTBT Refie civiba i wfge:

(A) AR o
(1] (=]
(D) ©oEg @D ﬁgﬁ

58, b et s SLOEE 20% o T GR
TROEBE 20% 27 T RUMH 797 291 24 8
RS RIS =

(A) 3:2
(B) 2:3
(© 1:1
(D) 3:5

59. (TN 1% 188 G —~ 2004 G, 2024-9 HFOR
Gt wErfPeme (NYO) a8 Siss Jaiee 2
(A) g
(B) Ffoe
(©) =
(D) &9 e I

60, 96 I8 X 9R Z-93 YET SAe == 1: 3
M S5 6 IF Y-qF T =8 T 40, @B X 9R
7~ W TG, SRl Z GR X437 [EE A

97
(A) T20 %ﬂlﬂ
=
(Cy T30
(D) T40
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61. A, B and C together earn ¥ 300 per day, * 61, A,B 8 CToqam aaea triv< 300 St Csiefa
while A and C together earn T 188 and B and C : 0 | HEE A8 C 9509 188 51 R B 8 C 9555
together eam ¥ 152. The daily earning of Cis g 152 Bil Tl B TR | C-qF i Toiieiy Fo

(A) T40 & TI?
B) T68 gﬂﬁl (A) 40 Bt
©) 3112 E}ﬁ (B) 68 Bt
D) 150 (C) 112 %1%t

(D) 150 5=t

62. Four bells ring at an interval of time 45
minutes, 1 hour, 1 hour 15 minutes and 1 hour 30
minutes respectively. At 12 noon 4 bells ring
together. Calculate the time when will the bells

62. 5136 <5t 45 TG, 1 9%, 1951 15 R e |
1 99130 BifH6 www Qe et 12 Bt whef \
I IS 1 TN P4 A e o e ‘

ring together again. T .
(A) 3 am (A) 3am Eﬁm
®) 3pm (®) 3pm i
(© 4am ©) 4am [=]
©) 4pm (©) 4 pm

63. Jude Felix is a famous player in which

‘ 63. T CFTS CTI (LI GG (U1 (UG ?
field?

(A) Volleyball =) [x] (é:; ;2:61
(B) Tennis y ;

(C) Football =] © T
(D) Hockey @) =

64, What is the name of the first ‘private’ train
run by the subsidiary of Indian Railways, IRCTC?

64. ST FNSEE TN AT IRCTC 7 .
e A% ‘elf%ren’ Govs " e T

t R E ACECE B RTRCE & XNCR B e R R R R R R R R R R R R R R R R R R R R

(A) Tejas Express
(B) Swarn Shatabdi ((‘;‘; T T %@E
(C) Gatiman Express o Elﬁ
(D) Duranto Express (©) stiaiw s
(D) T T3
] 3 ]
[5] =%
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65. Which of the following is an example of
Bluetooth? E E
(A) Wide Area Network ';_gg .
B) Local Area Network E]ﬁ
{C) Personal Area Network
(D) None of the above

66. What will be the ratio of simple interest
earned by certain amount at the same rate of
interest for 6 years and that for 9 years?

(A) 1:3
(B) 1:4
(€) 2:3
D) 3:4

NS GO
67. Areductionof 125 % inthe price of oranges
enables a purchaser to get 2 more for ¥ 6. The

reduced price of a dozen orange is
(A) T450
® %5
(C) ¥3:50
(D) T5-50

68. Whoisknown as the ‘Father of Geometry’?

{A) Aristotle

(B) Euclid %5]@
(C) Pythagoras Eﬁ
(D) Kepler

69. A gottwice as many marks in science as in
English. His total marks in English, Science and
Mathematics is 180. If the ratio of his marks in
English and Mathematicsis 2 : 3, whatis his marks
in Science?

(kU KBEAABERA DA DI RIIBAAETRIBNRTOONSXIRPRI AR AR AR AR B A XK

65. A G FHI-qF Tigged 2
(A) e7%E qfiat oI
@B) e 9fm Evend
(©) rfme o Eoear
(D) BA=g @IAIDE

66, G ST AIW TR WA 6 IH GR

9 TR I T SATS TO A ?
(A) 1:3 mE
B) 1:4 )Bgﬁ
(©) 2:3 [=]
D) 3:4

67. IR 7 12%% T WG G
(21 6 511 26 (I TR A | 1 o PRI
e 67

(A) 450 Bit
(B) 5 Bit

(©) 3-50%=
D) 5-50 51

63. ‘wihvfex sne A «fRbe &2
(A) ifEo0e
B) Fofse
(©) TRTstaT
(D) &A=

69. AR 7o 75 e i o faad
TR (Ol | O AT, el @ St it =199 180,
it Zafer @ O0F AN THET SIS 2 : 3 7, O
=it dig a9 o2

2
0
(B) 60 %’ 70 Elﬁ
(© 70 ©
(D) 80 ®) 80
(=13 =] Please Turn Over
[=1
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70. Select the one which is different from the * 70, SipawReR= N0 @D SOHT TSR
others in the following numbers: E E : G115 Fiow 9
324, 441, 289, 326 Jyg ~ & 324,441, 289, 326
(A) 324 =] & (A) 324

(B) 441 (B) 441
(©) 289 (C) 289
(D) 326 (D) 326

71, 10 T SN B HE 20 T F209 Fi |
10 49 T 509 T8 T (=0T 7 | IS O TS

71. 10 workers can complete a job in 20 days.
After 10 days, 50% workers leave the job. How

many more days are needed to finish the job? WG TS TN AIE
@(g; 20 (A) 20 E
®B) 5
© 15 © 15 Eﬁ
(D) 30 D) 30

72. The SI unit of radioactivity is 72, (SEFTO . TR, G T

(A) Cobalt A
(B) Decibel ® P

(C) Ampere . ORI
(D) Becquerel (C) soiPAT

73, Deficiency of which vitamin causes night
blindness?

73, i TEHNET SO ST @i e

A) foofm @
(A) Vitamin A B E ((B; a
(B) Vitamin B A,Q ) bRk
(C) Vitamin C Eﬁ (©) Febf &
(D) Vitamin D (D) febife f&

74. The LCM and HCF of two numbers are
2175 and 145 respectively. If one of the numbers

74, {5 YT A0, @ 5.2, JAUGFE 21756
145, 9% G35 TR 725 T i OoiE Wi w6

AAEKBEAATEAAXDIAARIVEIIPIIAAREREAVACATRBARPIBORXA XD ARSI AN

is 723 then find the other number
: ot e =T

(a) 425 ' (A) 425 %@E
®) 315 ®) 515 Elﬁ
(C) 435 (C) 435
D) 450 (D) 450

[=] ¥ [=]

==
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75. A bike 2m long crosses a 22m long bridge :

in 0-8 sec. At what speed in kin/hr was the bike

travelling?
(A) 30 km/hr
(B) 108 km/hr
(C) 60 km/hr
(D) 25 km/hr

76. The product of two numbers is 4,332 and

3
their quotient is — . Find the sum of the numbers.

4
(A) 136
@) 133
(©) 143
(D) 149

77. Which of the following noble gases is used

in the treatment of cancer?
(A) Helium
(B) Argon
(C) Krypton
(D) Radon

78. Which of the following is not the unit of

energy?
(A) Joule
(B) Kelvin
(C) Electron-volt
{D) None of the above

79. Which one of the following is the capital of

Jordan?
(A) Havana
(B) Amman
(C) Lagos
(D) Oslo

SLC/23-B-3190086/15
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75, 2 fibig =73t @b 3BT 22 B 7t ol

(A) 30w/
B) 108 /s
(© 60 R a3
D) 25 Rfif=e

76. {6 WP 9T 4,332 IR OItHE

Hﬁﬁf%lﬂiﬂiﬁﬁﬂﬂﬁﬁ‘fﬂml

(A) 136
(B) 133
(C) 143
(D) 149

&

77. WA @ AT PR PR Ieme

LN

(A) femi
(B) W+
(C) f&%w
D) oA

78. A @D e T Y ?

(A) o

B) =T

(C) ERGA-CSFB

(D) THIE I

79, FelRe R wora Al

(A) For gﬁ]li]
& o -

(D) =i
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80. Acid rain is due to increase in atmospheric
concentration of

N
(A) Ozone and Dust

B) CO,and CO

(C) 80,and CO %gm

@) SO, andNO, Eﬁ

81. A 250 meter long goods train is running in
33 km/hr. In a parallel track, a 200 meter mail train
is running in a speed of 60 km/hr in the same
direction from behind. How much time the mail
train takes to cross the goods train after it reaches

(A) sTEI 8 Yl
(B) CO, 4R CO
(C) 80,9RCO
(D) 50,49} NO,

§1. a6 250 fbig =gt WS 33 fefie/qs
Q@0 R | G AR G 9 TEERE DS
9% oo 60 Refe/we @ oied (3eF B0
apE | AR G T =R ofime s

to the goods train? ﬁﬁﬁwmwm =g ]
(A) 2 minutes (a) 2RFe %g (]
(B) 1 minute @®) 17F5 Elﬁ
(C) 1.5 minutes (©) 1.5 TG
(D) 3 minutes (D) 376
82. What are Jatakas? 82, ©eT 7

(A) Stories of Ram and Sita (A) A8 ol o5
?3 gﬁe‘_“s ‘”fg‘le“ on birds ‘i‘)“iftha“i“;aif (B) #IR s 2lifior Fit @l et

ories o € pervious SO <] d

Buddha & (O) =S 7{=CT= 5w
(D) AnEpic ,:g%ﬁ D) g3 TR
[xi

83. Recently, which of the following UT/State
was declared to achieve full functional literacy
under the ULLAS (Nav Bharat Saaksharta
Karyakram)?

EE R X -E-E R R E XA E S N LR R R R R R R R R R R e R R R R R e R R R R R

(A) Ladakh PR
{B) Chandigarh
(C) Kerala
(D) Maharashtra
[5] % [=]
=
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83. ArROTHIE (i BT (B (e
TYF)/ AT 2B GF G 9 G (RS Awe!
a3 o Af ArFTe FEES e

(A) =t %;:JIE_I
®) v811s ik
(C) 4t
D) T2
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84. When was University of Calcutta

established? E E w?
(A) 1857 A (A) 1857
(B) 1800 Elﬁ 1800
(C) 1847 (B)
©) 1900 (C) 1847
(D) 1900

85. Thenameofthecyclone ‘Remal’ was given 85. @IF (7 G ‘@RT-4F TP FEER?

by which country? A) AzErS
(A) Thailand ((B; e 'E]ggm
(B) Bangladesh - ﬁ
(C) Oman © e =]
(D) Sri Lanka (D) st

86. What percentage of numbers from 1 to 70 86. 1 (403 70~93 W *ToFq Foul MRYE

have 1 or 9 in the unit’s digit? GTFF AT TEG 1 I 92
(A) 5% (A) 5%
(B) 25%
(©) 20% Q2%
D) 30% (©) 20%
D) 30%

87. The three new criminal laws in Bharatiya
Nyaya Sanhita came into effect from

(A) Tuly 1,2024 %ﬁ]lﬂ
(B) June 1, 2024 fa]

(C) June 24, 2024

(D) April 1,2024

87. SRSV TRROHRE b g GRemi
wigw e 9 TR
(A) 19, 2024 (U=
(B) 1%, 2024 (AT
(C) 249, 2024 (T
D) 1«2, 2024 &

88. A tanker can be filled by two pipes A and B
in 60 min. and 40 min. respectively. How many

88. %6 BIFIR A @ B b #if2st farg ofS ware
JAG 60 FHG @ 40 RHG s =it | A sz

AR BBAXREAEXDGBAA RO IERBRXOIRERERAIATCTIAROCORBRBOIBRADBREND D N D D N Kk

minutes will it take to fill the tanker from empty
state if A and B fill it together? m :;: ;g:ﬁq me;qg;
A) 24 min. : :
EB; 2621$ (A) 24 Bf% H?ﬁ
' =
(C) 22 min. ®B) 26 RfHG
(D) 28 min. (C) 22 FiG
(D) 28 G
[=] ¥ [=]
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89. The Hindusthan Republican Association

was founded in 1924 by [Opa| O
o

(A) Bhagat Singh

(B) Chandra Sekhar Azad

(C) Jogesh Chandra Chatterjee
{D) Sachindra Sanyal

90. First Indian Woman to swim across the
English Channel—

(A) Arati Saha

(B) Arati Mukherjee
(C) Bhakti Sharma
(D) Anita Sood

91. Which country launched the ‘Cleanup to
Clean Energy’ plan?

(A) India
(B) USA
{C) Japan
(D) Germany

92. The speed of aboat in still water is 8 km/hr
and the speed of the stream is 4 km/hr. Find the
time taken by the boat to go 48 km down stream.

(A) 12 hours

(B) 4 hours %5]@
(©) 8 hours Elﬁ
(D) 6 hours

93. ‘FALCON Shield-2023" is a military
exercise participated by which countries?
(A) India and USA
(B) China and UAE
(C) China and Russia
(D) India and UAE

AU XKTRAADBBA ARSI AR TP ASPRIBRAITER SNV ANOBTRBEPAPA AR AP ENDD %%k

89, 19247 @ R ReRErmepmiRemm
aifedt sty

(A) ©5e PR

(B) BEHCIIT &R
(C) GEitsive: BIBIRy
(D) =Bl FA-0=

90. seeroR Rke R e Aq e 2k

(A) w=fe g ﬂ
(B) =S qrAtigE [=):
(C) =i it

(D) wfret 7

91, (PR 07 A B 5 IR AR B
JARYT
(A) ©IF®
(B) W= g&alg
(C) =l
D) i

92. % oe =l (TR siferae 8 Bfi/ae e
@ited sifewe 4 [/ @es S 48 /R
(TS GG F© FoF TR o [efq T

(A) 1290
(B) 49%t
(C) 8
®) 65

93, (T el ‘FALCON Shield-2023° #iufEs

(A) ©iFe 8 T Teg &?ﬁ
B) B @ 79w W iy [
(C) 5= s wifam

(D) SiES YR AFYE W RIEF

%E
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94. Which sport has the maximum number of * 94, @ (¥ele oy e ROE QRN RYF
players on either side? %gﬁl : CATETTENG SR T ?
(A) Rugby y ﬁ 8 A) TR
&
(B) Water polo El * (B) ST cARET
(C) Baseball *
(C) ==
(D) Soccer &
& (D) FoA
*
®
95. In a class of 45 students, all students ¥ 95, 45 o FafFE G3lb e wa T 7_t
participate in one or both of the two games i.e., I G SRS (3919 G3i6 W FHreR, Sedetaet
Chess and Badminton, 11 students particiI.Ja.te n & EEl 11 S a0 CETITOR W as AR (I
both the games whereas 17 students participate & 17 e gie (GG T CLFAITS S FATZ | GNB
f)mngrmclhetzs;}fow many total students participate g FOoH BT W CAFTIT ST TR ?
) & (A) 17e9 g
(A) 17 students ho %glil
(B) 11 &g s D
(B) 11 students Lo (©) 28T &E ﬁ
(C) 28 students 8 O
(D) 6 students g (D) 6=
f
]
96. InwhichyearSikkimbecameafull-fledged ® 96, T i SRTE GFH izt ey AT
state of India? e
(A) 1947 (A) 1947
(B) 1965 (B) 1965
(C) 1975 (C) 1975
(D) 1985 (D) 1985

97. Who has been awarded the ‘Pen Pinter
Prize’ 20247
(A) Amndhati Roy %gm
(B) Sanjana Thakur Al
(C) Anita Agnihotri Elﬁﬁ
(D) Jhumpa Lahiri

98. Find the smallest numberwhich is divisible
by 7 and when divided by 8, 12, 16 leaves 3 as
remainder in each case.

(A) 140
B) 147
(C) 154
D) 133

SLC/23-B-3190086/19

LR AR R RCRCE R RUECGE 3 3K - XK R R R e K KR

97. (520247 “Cof 901 7 e Iram 2
(A) SFFS! I
(B) el S
(©) wfe wfial
(D) It =iR@

98, 7 fira ooy «m Frew et T @
8, 12, 16 Taed ots =t alfS ¢eq 3 Sl AR |

(A) 140 EE
(B) 147 &%ﬁ
(©) 154 [=]

D) 133
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99. According to the Indian Constitution, who * 99, SRS Ry SR ©Hre oFE o=
has the power to declare an Emergency? I I Taf wwet I WE?
(A) Prime Minister & ) %ﬁlﬂ
(®) President %ﬁ]lﬂ & e ﬁ
. * ®) Ao [=]
(C) Chief Justice E * ofs
(D) Parliament ® (C) e Rt
& (D) 7™M
*
*
#®
&
*
100. Who won the Norway Chess Super g 100. 5 TRST O3 I+ G, 20249 Rt
Tournament, 20247 o o
(A) Fabiano Caruana Eg@ g R E@El
(B) Hikaru Nakemura ' /a¥ibg 2 (A) TR e &
(C) Gukesh Dommaraju =] B @B) fesis wiwnE
(D) Magnus Carlsen & (C) ot e
&
& (D) SO PRGW
£
&
&
L]
]
R
®
&®
8
&
4t
&
X
®
&
B
&
B
&
*
*
®
B
*
*
®
®
*
*
&
8
*
*
*
[=]%;[=]
EI—I 1l
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4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
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1. Choose the correct option to complete the
sentence:

The cooked by him. -
(A) food was El’ ta
(B) foods was [x]

(C) fooding was
(D) food were

2. Change the following statement into a
question:
They had been waiting for her for two
hours.
(A) Weren’t they waiting for her for two
hours?
(B) Hadn’t they been waiting for her for
two hours?
(C) Won'tthey wait forher for two hours?
(D) Hadn’t they waited for her for two
hours?

3. Replace the underlined word with the
appropriate idiom from those given below:
Considering the urgency of the case, we
must act quickly.

(A) Infact -
(B) In lieu of Sz [=]
(C) In view of =]

(D) In course of

4. Selectthe word which is similar in meaning
to ‘Evidence’:
(A) Papers
(B) Documents
(C) Accounts
(D) Proof

5. Fill in the blank with the correct modal
verb:

Since you broke his camera, you
buy him a new one.
(A) should
(B) would
(C©) will
(D) may

XA UBEAARDBD AU AP AAAIPARVARLCATCDAEBFITAVCTCATRRRTTBEAARTBAARDS R AR R KX

6. Complete the following idiomatic
expression.
Make
(A) hurrah
(B) hay
(C) haste
(D) hatrick

while the sun shines.

7. Choose the correct option to complete the

sentence: OR|0]
Sita her mother. ', .
(A) resembles ]

(B) have resemble
(C) has resemble
(D) resemble

8. Change the following question into a
statement:

Aren’t you older than your sister?

(A) You have been older than your sister.
(B) Your sister is older than you.

(C) You were older than your sister.

(D) You are older than your sister.

9. Choose the correct option to complete the
sentence:

Birds build nests in trees.

(A) their

(B) his [m]=][=]
(©). its :

(D) her [=]

10. Change the following sentence into an
affirmative one:

The twao brothers are not unlike each other,
{A) The two brothers like each other.
(B) The two brothers are like each other.
(C) No two brothers like each other.

(D) Thetwobrothers, theylikeeach other.

SLC/23-C-3190087/02
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11. Complete the following phrase with the

appropriate word.
A__ inaChinashop. E

(A) horse '.
(B) cat

(C) rabbit

(D) bull

' 12. Change the voice:
: The mason is building the wall.
(A) The wall is being built by the mason.
(B) The wall-building is being done by
the mason.,
(C) The mason built the wall.
(D) The wall built by the mason.

13. Change the following sentence into passive
voice and select the correct answer:

I will consult the resources at the archives
and undertake a tour across the city.

(A) Theresources will be consulted atthe
archives and a tour across the city will
be undertaken.

(B) Theresources will be consulted at the
archives and a tour across the city
undertaken.

(C) Theresources will be consulted by I at
the archives and I will undertake a
tour across the city.

(D) Theresources will be consulted by me
at the archives and a tour across the
city will be undertaken. GE

14, Rewrite the following sentence in the
comparative degree:
This is the least expensive shirt.
(A) This shirt is not so expensive.
(B) This shirt is a little expensive.
(C) This shirt is less expensive.
(D) This shirt is too much expensive.

SLC/23-C-3190087/03
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15. Replace the underlined verb with the
appropriate phrasal verb from those given below:
Please postponé the decision till Monday.
(A) put off
(B) putout
(O pull off
(D) pull out

16. Selectthe word which is similarin meaning
to ‘Discrepancy’:

(A) Diffuse EF EI
(B) Variety [s]

{C) Variance

(D) Analogy

17. Fill in the blank with the correct modal

verb:

You have done a bit more to
help instead of leaving everything to me.

{A) can

(B) could

(C) will

(D) shall

18. Arrange these groups of words in their
correct order to form a logical sentence:
M. to protect the Hasdeo Aranya forests
N. from coal mining
0. Alok Shukla led a successful campaign
P. known as the “lungs of Chhattisgarh”

(A) PNOM

(B) OMPN (=] (=]
(C) NPMO A

(D) MONP =]

19. Replace the underlined verb with the
appropriate phrasal verb from those given below:
Please remove your socks before you enter
the room:.
(A) bring out
(B) bring down
(C) take off
(D) takein
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20. Replace the underlined verb with the 25, Replace the underlined verb with the

appropriate phrasal verb from those given below:
Experts are trying to discover the cause of

the accident. E? E
E]%

(A) find under
(B) findin
(C) find out
(D) find inside
21, Fill in the blank with the correct word:
The medical reports got at the
diagnostic centre.
(A) swapped
(B) swiped
{C) stunt
(D) swish

22, Fill in the blank with the appropriate
preposition from those given below:

Weshouldrely ourown efforts.
(A) about (=] im]
®) in
(C) on E
(D) with

23. Fill in the blank with the appropriate
preposition. )
We will let you know.about the process
due course.
(A) at
(B) in
(C) upon
(D) for

24. Choose the correct option to complete the
sentence:
I travel to my office
railway.
(A) by
(B) under
(C) through
(D) with

the metro

* *

*
®
®
*
*
®
&
*
*
*®
®
*
¥*
&®
&
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&
B
B
&
L]
&
ko
L
&
L
&
B
®
&
®
[+
<
B
®
£
B
4
B
&
a
*
*
8
8
*
*
B
&
*
¥*
B
B
*
*
*

appropriate phrasal verb from those given below:
The thieves escaped with the stolen money.
(A) getting away
(B) gotin
(C) get away

(D) got away

26. Replace the underlined word with the
appropriate idiom from those given below:
He; visits me pccasionally. ERE
(A) off an on Y A
(B) off the cuff [x]
(C) off the record

(D) on the go

27. What does the expression ‘Janus headed’
mean?
{A) Talkative
(B) Hypocritical
(C) Critical
(D) Argumentative

28. What is the synonym of the word languid?
(A} Laughter
(B) Lazy
(©) Lamp
(D) Litter

29, What does the word severed mean?

(A) Severe E:‘ E
El%

(B) Cut-off
(C) Excess
(D) Diminish
30. Complete the following sentence:
She sea-shells by the sea-shore,
(A) sales
(B) sells
(C) sale
(D) sell

SLC/23-C-3180087/04
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31. Whoisknown asthe ‘Father of Geometry’?
(A) Aristotle’
El.,a?élﬂé.
=

(B) Euclid
(C) Pythagoras
(D) Kepler

32. Attorney General for India is appointed by
(A) The President
(B) The Prime Minister
(C) The Chief Minister
(D) both Houses of Parliament

33. First Indian Woman to swim across the
English Channel—
{A) Arati Saha
(B) Arati Mukherjee
(C) Bhakti Sharma
(D) Anita Sood

34. Which institution has developed the
UDGAM portal, recently seen in the news?
(A) RBI EL; E
(B) NABARD s R
(C) SIDBI [s]
(D) SBI

35. Atanker canbefilled by twopipes Aand B
in 60 min. and 40 min. respectively. How many
minutes will it take to fill the tanker from empty
state if A and B fill it together?

(A) 24 min.
(B) 26 min.
(C) 22 min.
(D). 28 min,

SLC/23-C-3190087/05
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31. ‘S sw e I Af&be &1
(A) SOfEeBGa
®) e
(C) Pixitsia
(D) CFotele

32, SrATed SR (eI FiE 7 e e
(A) AgAf® :
(B) SN Py
© T [

D) TATE TSl FF

33, SR SIRO wiRat R ST +i2 2o Ko
IT—
(A) wi=fe AR
B) =5fS et
(C) of& =it
(D) st 3

34, Frefs Ao O Wil UDGAM (+AibE
WMWW? E; E
(A) =I7. R =, AR
(B) wRIE
(C) <. =R, f&. R =g,
D) <. 7. 5],

35, 9l 5iFE A @ B 1 #ifes i ©fS Tw e
T 60 TG @ 40 WG 17 =1iest | Aifer wag
Gierafiee A 8 B 4 AlRs A TR TS
TS TS T ANEY?

(A) 24 TG
@) 26 =+G
(©) 225G
D) 28 B
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36. A group of students in a class of .a school
collects ¥9,216. The amount contributed by each
student is equivalent to the number of students in
the class. Find the number of students in the class.

(A) 66 -

@®) 48 Tt
(C) 96 [x]
D) 36

Q
e

36. 93 Wl <3 cffice = =9
(1B 9,216 51 B TReiz 999 | SR e TeEA vE
ATSTE OO A bt e | €3 i e Fo o
B 7@

(A) 66
@) 48
(©) 96
D) 36

37. Four bells ring at an interval of time 45
minutes, 1 hour, 1 hour 15 minutes and 1 hour 30
minutes respectively. At 12 noon 4 bells ring
together. Calculate the time when will the bells
ring together again.

(A) 3am
(B) 3pm
©€) 4am
(D) 4pm

37. SRS %%t 45 G, 1 9%, 1 9% 15RFBe
1 %130 Rf6 oIgs e @& 12 B el
G AR A7 SR I qFAN A o el
! 8215
(A) 3am F :
(B) 3pm E
(C) 4am
(D) 4 pm

38. Which state organised National Yoga
Olympiad (NYQO) from 18th to 20th June, 20247
(A) Madhya Pradesh -
(B) Karnataka [S1:]x]
{C) Haryana E
(D) Jammu and Kashmir

38. (i IS 182 9 — 2009 T, 20249 TSI
cis! SRR (NYO)-9F SIS Feafes ¢
(A) wgeTm
B) 6%
(C) Z=amI
(D) w8 T

39, sk Ruikurm T b dfefe

S E’uag?
(A) 1857 : A
(B) 1800 [=]

(©) 1847
D) 1900

39. When was University of Calcutta
established?

(A) 1857
(B) 1800
(C) 1847
(D) 1500
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40, The ratio of the prices of two products X
and Z is 1 : 3. If the price of another product Y is
¥ 40, which is the average of the prices of X and Z,
then the difference between the prices of Z and X

18
(A) T20
(B) T60
(C) T30
(D) T40

41. The cost of 12 belts and 30 wallets is
¥ 8,940. What is the cost of 4 belts and 10 wallets?

(&) T2,780
(B8) 22,870
(C) 2,890
D) 2,980

42, The product of two numbers is 4,332 and

3
their quotient is ~ . Find the sum of the numbers.

4
(A) 136
(B) 133
(C) 143
D) 149

43. Which Union Ministry hosted the ‘Divya

Kala Mela’ fair?
(A) Ministry of MSME

(B} Ministry of Social Justice and

Empowerment
(C) Ministry of Defence

(D) Ministry of Science and Technology

SLC/23-C-3190087/07
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40. 96 ¥ X 9R Z-99 LA AN T 1: 31

Ift o7 I 3 Y-99 70 W T 40, @ X qR
Z~97 YT A, O Z GR X4 [E09 ALy
Sk

(A) T20
(B) %60
(©) T30
(D) ¥40

41, 12 5 3¥% @ 30 b el Wi 8,940 Siwt

7@ 4T 5 ¢ 10 B enEBI N Fo e _
(A) 2,780 B! . E]' [=]
(B) 2,870 Brat [w]:
(C) 2,890 BIFt
(D) 2,980 i

42, 7o YT edTe 4,332 OIS

olsiE % | o T e It

(A) 136
(B) 133
{C) 143
(D) 149
===
5]
43. (@ @0 e T Fa @ =T wiaeE
FCARE ?
(A) 9% ¢F. g%, 3, TN
(B) FAWIfES iHfiod @ Home Nl
(C) o= SEFie
(D) R @ agfes SarE™
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44. ‘FALCON Shield-2023’ is a military * 44, 0P ‘FALCON Shield-2023 G

exercise participated by which countries?

(A) India and USA OR|o|
(B) China and UAE [ ;
(C) Chinaand Russia [=]

(D) India and UAE

45. In which museum is the ‘Mona Lisa’ kept?

(A) The British Museurn
(B) The Louvre

(C) The Metropolitan Museum of Art

(D) The Uffizi Gallery

46. Recently, which of the following UT/State
was declared to achieve full functional literacy
under the ULLAS (Nav Bharat Saaksharta

o

Karyakram)?
(A) Ladakh E
(B) Chandigarh 'E
(C) Kerala
(D) Maharashtra

47. X can finish a job in double speed of Y. Y
alone can finish the job in 24 days. I they work
together, in how many days they can finish the

job?
(A) 8 days
(B) 16 days
(C) 10 days
(D) 12 days

SLC/23-C-3190087/08

X R St TR

(A) O @ TF Teaig

B) B '@ T WS aNGEEH
(C) B+« afmt

(D) SIS R IS AT AR

45, ‘IR (I EITECE A SR ?

(A) W & fisfmm [=I5I=]
(B) W aed O]

(C) W Gt ey s it

(D) W SffE syt

46, 2o TR EN BREGI (Fifre
)/ AT 2B G G 9 ] (SRS TSl
)3 o o AFTOR TNl e
SRR

(A) =

(B) v8I5T
(©) g
) TAH

47. X 936 T Y-99 a9 s 1= I3
A | Y G o 24 e F909 7l | ol| g7
et e TS e I’ CR TR [@]E]

»

AXAKBTBEARARDEAADBDD AKX QIRBABABSBAREAIERPOOTABABRRIPOIANXBBAKBREXRD D

(A) 8T )
®) 16 [=]
() 10f=
D) 12

[=] % [=]

[=
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48. Out of two numbers if the first one is * 48, ¥ib Y 0P ALoTE 20% I T 9R
increased by 20% and the second one is decreased : RoEiwE 20% FATAE ARG AT T | 2998

by 20%, they become same. The ratio of the first & RS WeUMbs wAe =
and second number is

- (A) 3:2
(z(g;gg E["EI (B). 2:3
© 1:1 (=t o 3
D) 3:5

49, A bike 2m long crosses a 22m long bridge

_ 49. 2 T =19 ol <Re 22 FvE o 9ol
in 0-8 sec. At what speed in km/hr was the bike

FIE 08 CTETS Hiows | ARI0HI sifost

travelling?
(A) 30 km/hr /5 vor &1
(B) 108 km/hr (A) 30 ffi/ae - ;
(C) 60 km/hr B) 108 Rf/=s [=]:
D) 25 km/hr (C) 60 /=
D) 25 Rehife

50. Where was the ICC Men’s T20 World Cup 50. 2024 SRERF 4wy 20 v @RlE

2024 held? Ez{E oS e e
(A) gSA andf?E PR (A) T, . €. G2 T, 4. ],
(B) Oman and Yemen (B) @9 9 SHGH

(C) USA and West Indies

(D) USA and England (C) T&. . 9. GRS Yow

(D) 2. &, 9, R TEHS

51. Acid rain is due to increase in atmospheric
concentration of

(A) Ozone and Dust
(B) CO, and CO
(C) SO,and CO
(D) S0,and NO,

51. Igwec @Abe =y Iaw b ST 3R
[ 5
(A) STER @ gfFrt E' I
®) CO, R CO [=]
(€) 50,9k CO
(D) SO, $R}NO,

AU UBTRARFELAXBEAFQESARTIEIRAOIBRTRBIIAACORECR BRI EAANDDEAXG R AN

Please Turn Over
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52. In a class of 45 students, all students
participate in one or both of the two games i.e.,
Chess and Badminton. 11 students participate in
both the games whereas 17 students participate
only in Chess. How many total students participate
in Badminton? -

o
{A) 17 students @' E

{B) 11 students =l
(C) 28 stodents

| (D) 6 students

53. Which country launched the ‘Cleanup to
| Clean Energy’ plan?

| (A) India
(B) USA
(C) Japan
(D) Germany

54. A, B and C together earn ¥ 300 per day,
while A and C together earn ¥ 188 and B and C
together earn ¥ 152. The daily earning of C is

(A) %40 [mizi[=]
(B) T 68 s F
© T112

(D) 150

55. What percentage of numbers from 1 to 70

* 52, 45 o gaffB v @it T gEgi wRl
¥ o RS cen o St qier SRR
& FEE| 11T (LENToL S SR @A
® 177G R (ST 1S (400 S IR 6
¥ e ga ERG (e Tt FEeR?

(A) 17E %9

(B) 115759

(C) 28T 9q

(D) 6= gY

53, @ ot Tee § e wmifet wifSesmi ot
AR

®) W Ty [&]
(C) =i¥is
) W

54. A, B¢ C oo @373 (s 300 Bisw Soffera
FE 1R A € C €309 188 5i1 @R B 6 C I
152 Bisst e Tolieia S | 99 il BoAlRia v
{AAY

(A) 405t
(B) 68 B
©) 112%t
D) 150 5=

55, 1 (T 70-97 0 <oFA FoalF FRyE

AU ABBAABBEATB AR DRI ZUOBIARRAGRIRAIATINERBERETTBNEABBRARSBD

have 1 or9 inthclmit’sdigit? Wﬁﬂtﬂﬁ‘ﬂﬁﬁ?lwﬂ?ﬂ 97 E- E
(A) 5% (A) 5% R
B) 25% =]
© 20% ®) 25% :
D) 30% (C) 20%
D) 30%
[=1 5[]
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56. A gottwice as many marks in science as in
English. His total marks in English, Science and
Mathematics is 180. If the ratio of his marks in
English and Mathematics is 2 : 3, what is his marks
in Science?

(B) 60 :
(C) 70 =]
(D) 80

b

57. In which state is “Boita Bandana

celebrated?
(A) Odisha
(B) Assam
(C) West Bengal
(D) Meghalaya

58. Norway, Germany and Finland reported
which disease on fur farms and mammals?

(A) Anthrax

(B) Avian Influenza

{C) Foot and mouth disease
(D) Bluetongue

59. The average weight of the first 11 persons
among the 12 persons is 95 kg. The weight of the 12th
personis33kgmorethantheaverage weightofallthe
12 persons. The weight of the 12th person is

(A) 128 kg E:1E
(B) 9745 kg ety
(C) 128.75kg O

(D) 131kg

1 494
60. The value of —+999——x99 is

C-11

* %

AXEXKBEEXEXDLAADBR A A DR PAIARPRNARYRPEUDAOABTRXIXBEAAIAN AR EADRAURNBR B K

5 495
(A) 99000
(B) 9900
(C) 98000
(D) 95000
[=]
=

SLC/23-C-3190087/11

56. AZERTe To 751 CinE Reeie o Rad
T (IR 1O AT, el e wieg (iG99 180,
% 3G € 0E &l THERI TAS 2: 3T, O
Realg 2iig =99 ot

(A) 40

(B) 60
© 70

®) 80

57, ‘035t IV G e Sifere = e

(&) it I
B) =N r :
() iR =]

(D) e

58, wAew, TR 3L Freure “ YT 9]
WP 2N @ @i [t e

(A) 0oL

®) <o e
(C) 18 = At
(D) e oA

59. 12 &« TE 6P 4947 11 TR 90 98
95 it | 12 o9 s eEH 12 54 e G 9&mg
7 33 Toat @ == 12 o gfes eam—

(A) 128 fat
(B) 97.45 Reali
(C) 128.75 fea
(D) 131 feati

494 :

1
60. —+999Ex99-¢rg‘sn=[

5
(A) 99000
(B) 9900
(C) 98000
D) 95000

Please Turn Over
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61, Which one of the following is the capital of 61. FEFRT @b w6ET R
avana -
! TEY g e
® 3 (E) et
{O) Lagos El ©
(D) Oslo D) sFE

62, Inwhich year Sikkim becamea full-fledged
state of India?

62. I I oTen 3 i ATeg wfde
Al 2

((1;; 132’5’ (A) 1947 [=l E']
| (B) 1965 :
(C) 1575 (©) 1975 =

63. What is the name of the first “private’ train
run by the subsidiary of Indian Railways, IRCTC?

(A) Tejas Express

63. SIS (FASET AN 7 IRCTC Bt
pifeT® 29T ‘iEres’ GEe aiv e

(B) Swam Shatabdi ((g %

(C) Gatiman Express

(D) Duranto Express (C) oA e
(D) =% o

64, Which of the following is not the unit of

64. Aood @ =T o T

energy? =
(A) Joule @' E‘ () ‘\iﬁlﬁ
B) Kelvin O ®
{C) Electron-volt (C) YOS
(D) None of the above ) Gt e

65. Amal and Bimal started a business. Amal
invests ¥ 500 for 9 months and Bimal invests some
money for 6 months. If total profit is ¥69 and Bimal

e E B XK R S KR R R E - R R R R R R R K R R R - N R e R e R e R R R

65, = @ e ol TeT oF FaEE | wwE
9 A &G 500 Bi 3R 3= 6 W1 oy g Bt
=1 T | i G 1S 69 Bl T I} (I (U0

gets T 46 then the amount of investment of Bimal is e 46 B s w1 [{Tw iR sERERE—
(A) T1500 (A) 1500 Grt oRiO)
B) T 300 B) 300G # :
(©) T450 (C) 450 Bt (&
(D) T600 D) 600 B
[=] 5y [=]
[=] Y%
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66. Which of the following is an example of : 66. No5q TG HI- Origael?
Bluetooth?
Iy A) enlEw afimt Foend
(A) Wide Area Network E E. A TS
: (B) @ affm ehea$
(B) Local Area Network [w] e
(C) Personal Area Network (©) iz o :
‘D) None of the above

(D) T @IENHE 7

67, Findthe smallest number which is divisible
by 7 and when divided by 8, 12, 16 leaves 3 as

67. 7 e Rreteg aow Faey Yt Ha sw At
8, 12, 16 Tz ol = &S (6 3 Sieieefd LA |

remainder in each case.
A) 140 -
(A) 140 ((B; 147 .Ef E.
47 :
B 1 (©) 154 [«
. (©) 154 D) 133
D) 133

| 68. Ganga water is being shared at Farakka 68. FIRIF (YT o1FA AN ST GBI S (Bl9)

with which one of the following countries? TR (7 Ao (ifbes, GG =5
(A) Nepal [=]z1[x] (A) @l
(B) Bhutan A 3
(C) Bangladesh [} (B) e
(D) Myanmar © =t
(D) SHi=E

69. FIAAIELA v 12%% I AW GFE
G5! 6 1 215 (IR TN A | 1 S SEIICETI

a1
69. Areductionof 125% inthe price of oranges

enables a purchaser to get 2 more for ¥ 6. The

YU BBUARDBIEARBAX ORI RAREFATRRBRERAATBABTRERAOIAABER AU BB R K

i reduced price of a dozen orange is A 5T = Ok |0
: (A) T4-50 (A) 4-50 51t HAS
(B) 5 (B) 5 Biot [s]
(C) T350 (C) 3-50 Biet
(D) T550 (D) 550 Bizt
E E Please Turn Over
5=
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70. Howmany squaresdoesachessboardhave? *
(A) 65 =
®) 32 E' i
©) 64 O

D) 99

71. Select the one which is different from the
others in the following numbers:
324, 441, 289, 326

(A) 324

(B) 441
(C) 289

(D) 326 °

72. According to the Indian Constitution, who

73. The LCM and HCF of two numbers are
2175 and 145 respectively. If one of the numbers

AAAKBBAARZEAXRRIA N PR PTRASITAFTARECRVVCAITRTBELVOTRHKABREARBEAARDI XK

%E
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70, =T WIS FAH 40wy AT
(A) 65
(B) 32
(©) 64
D) 99

71, Vea el @b S e e

& <ot Feam
324, 441, 289, 326

[=li]
(A) 324 Ii']

(B) 441
(©) 289
(D) 326

72. SiITSE FRAF SR SR vy w9

has the power to declare an Emergency? wifs T TAO! DI HCR?
(A) Prime Minister - A) 2T
(B) President .E]f E ((B; EIEYI)
(C) Chief Justice [&] ' P
(D) Parliament (C) & 1T
D) AT

73. b WY AL, € 54373, AT 2175'€

145, I B FRYL 725 T OA oK RGBT F©

is 725 then find the other number. ol fifm <@ -
(A) 425 (A) 425 P
(B) 315 315 i
(C) 435 g 435 =
D) 450 D) 450
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74, What are Jatakas?
(A) Stories of Ram and Sita
(B) Poems written on birds and animals
(C) Stories of the pervious births of the
Buddha E; E
(D) An Epic L X
[=]

75. CTBT is a term associated with
(A) Nuclear Weapon
(B) Central Taxes
(C) International Terrorism
(D) None of the above

76. Who painted ‘The Starry Night'?
(A) Pablo Picasso
(B) Vincent Van Gogh
(C) Claude Monet
(D) Salvador Dali

71. Deficiency of which vitamin causes night
blindness?

(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) Vitamin D

78. Which sport has the maximum number of
players on either side?

L R RCECE R ECCRCE  RCRCE - R RR YRR R R R K R TR N R X R - KRR e R R KRR AR R R

74, GSE M2
(A) e FeF 5w
B) iR e Afma Fa @ IRt
(C) 3 ~[FECT
(D) 3D S

75. CTBT F5fRe @b e =iége

(A) A oy -
(B) & 21 I;El' (=]
(C) e[S AFHm [=]

(D) ©HTEF (FIAIOL

76. 5 %17 ARG & e e
(A) ARE P
B) oGS i aial
(C) % 6
D) HA=Tewd i

77. @i oo SrolE qrew] st 2a e
(A) TSBifm @
@®) febifm f§
(C) febifim &
D) oM e

78. @ (o9 oy e Row @M wYS |

CRITIG e 0 2 E:{E
(A) Rugby ) TR )l
(B) Water polo E
(C) Baseball (B) ‘exibE CAiteT
(D) Soccer (©) @F3H
(D) F6IA
E E Please Turn Over
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79. Jude Felix is a famous player in which
field? -
(A) Volleyball E'" =]
(B) Tennis =
(C) Football
(D) Hockey

80. A 250 meter long goods train is running in
33 km/hr. In a parallel track, a 200 meter mail train
is running in a speed of 60 km/hr in the same
direction from behind. How much time the mail
train takes to cross the goods train after it reaches
to the goods train?

(A) 2 minutes
(B) 1 minute
(C) 1.5 minutes
(D) 3 minutes

81. In which of the following districts of West
Bengal is the maximum amount of Tobacco

produced?

(A) Birbhum [w]:
(B) Bardhaman 'E
(C) Cooch Behar
(D) North 24 Parganas

82, Two trains travel in opposite directions at
36 km/hr and 45 kin/hr and a man sitting in slower
train passes the faster train in 8 seconds. The

AEABEAXDBEAAXIBARATEAZARFIUANSTTORR PRI BEIOTOIAADERADS AR H %%k

79. TOERT (P CF0EE I RO ({Eag ?
(A) ofe=
®) G
(© T
(D) TF

80. @3 250 foIF =19 AT 33 Refe/ws
el PR | G NGNY G 9 e HiE
52 Sfeq 60 Refis/ws @Ot oolee (I E5
R | AR G T s/fd ofieg 7=
AT ST FI00 6 TN (2

@A) 2R - EI [
®) 176 [w]

(©) 1.5 56

M) 337G

81. AFREE FF = AT omiE Besl

LTIk
(A) =g
(B) 34
©) =plERe
(D) Tex 24«99

82. 76 Reifiondt G «3H 36 /a5 8
ARG 45 fRI/9% St Tiat T ok Fsifs
g G I 9 % TS T G

length f;it)hesi)asﬁf train is 8 CILT SIS e | st =i Gafba trd =
B 100m (A) 80 TG O |0
(©) 120m () 100 o " ;
©) 180m (C) 120 o= x]
(D) 180 FoR
E5E
=
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83, Which ofthe following is the longest cell of 83. R ol Nwgoes ey @R
the human body? - A &
(A) Nerve cell E E- iB; $ .
(C) ¢t o

* ¥

(B) Bone cell =]
{C) Muscle cell

(D) Bloodcell

84. The speed of a boat in still wateris 8 km/hr
and the speed of the stream is 4 km/hr. Find the
time taken by the boat to go 48 km down stream.

(A) 12 hours
{B) 4 hours
{C) 8 hours

. (D) 6 hours

84. 29 =@ @b e Siferzet 8 B/ um
Eeed sfferaet 4 Rfl/s | @SR e 48 R
0T (NRIBF F© Ty e & e Tt

(A) 129%1
(B) 49!
(C) 8T
D) 69%

85. A 40 litres mixture of milk and water
contains milk and water in the ratio of 3:2.
10 Iitres of the mixture is removed and replaced
with pure milk and the operation is repeated once
more, At the end of the two removal and
replacement, what will be the ratio of milk and
water in the resulting mixture? ;

(A) 31:9 a v
®) 4:1 [u]

(©) 7:3

(D) 24:13

85. 40 0017 e fif¥e v vy € S SEire
3:2| €% fimd e 10 FoR fed v
AT 7Y RS o 20 | @ ST 7y e
G T 20T | g Pt 7 8 s e T ¢

(A) 31:9
®) 4:1
© 7:3
D) 24:13

86. What will be the ratio of simple interest
earned by certain amount at the same rate of
interest for 6 years and that for 9 years?

(4) 1:3
B)1:4
) 2:3
D) 3:4

86. 0 SLET AN ORI 6 ITH GR
0 JRF-9T e A TS T I ? E:E
(A) 1:3 g
®B) 1:4 El
€ 2:3
D) 3:4

(kA BB AADPIEARNETBEXNDIBIBORCETRARRABIBANAGEOXASRDBAITEANATR AR AN NS B *
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87. Who won the Norway Chess Super ¥ 87, (3 7S 07 9T Fors, 2024-9 Reft
Toumament, 20247 oRID) BT ¢
(A) Fabiano Caruana Ty . ( A) WW
(B) iz =it

(B) Hikaru Nakamura E
(C) T (TIRAg
(D) WIS FIAFH

(C) Gukesh Dommaraju
(D) Magnus Carlsen

88. 93 Gv 10 Ce 150 o tivds aofb
GBI Bl weEmiA «em JerE Sfows $E
R 22 GRS GoNA0EE S e 04, Ozt GAiod
sferaa =

(A) 45 Teehifae
B) 50 FFfi/=z
(©) 60 f=fifae
D) 55 f=fyae

88. A train crosses a man, standing over a
150 m length station in 10 seconds and crosses the
station in 22 seconds, then the speed of the train is

(A) 45 km/hr
(B) 50 km/hr
(C) 60 km/hr
(D) 55 km/hr

-,

89. The boys of a school can be arranged in
15, 18 or24 equal rows and also into a solid square.
Find the least number of boys in the school.

(A) 4900 R0
(B) 2500 ) :
(C) 3600 (=]

(D) 6400

89. w3t R Wame i U DaRkfFie
15, 18 5=l 246 A0S A W G R SIHE S
s <sfiwicae steEn 991 @ ARt s
Fou B S ot FifT St

(A) 4900
(B) 2500
(C) 3600
D) 6400

90. In a class, the ratio of the numbers of boys
and that of the girls is 11 : 9. If 30% of the boys and
20% of the girls passed the annual examination,
find the percentage of passed students of the class.

(A) 285%
B) 255%
(O 24-5%
D) 23-5%

90. 3T o 3T e AT RYT A
11:9 | 3% A0 30% 9% AR 20% AR
AT A FE ©F €] @fire <oed Foum
RaRal A FEeR o [T F@

(A) 285%
(B) 255%
(C) 245%
(D) 23-5%

*
*
®
B
*
*
&R
B
*
*
®
B
¥*
*
®
&
&
%
8
&
®
L+
B
4t
<
{t
&
&®
&
&®
&
2
&
L
&
&
&
&
]
®
®
L+
*
¥*
®
®
*
*
R
®
*
*
®
&
¥*
¥*
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91. The SI unit of radioactivity is 91, (TEHFITH 1. WiE, T
(A) Cobalt (A) RIS
(B) Decibel !3;- E] ®) B
(C) Ampere h wifa
(D) Becquerel = © ]
(D) @G

92. Micron is set to establish India’s first 92, SIA0SY 24 CIRTSET A NREPN o

semiconductor plant in which state? TACS ATS (I AT 2 E:E
(A) Tamil Nadu (A) W o ¥ [
(B) Gujarat B) ol 4 [=]
(C) Maharashtra -
(D) Uttar Pradesh (©) wRIg
(D) Bere™

93, The Hindusthan Republican Association
was founded in 1924 by

93, 192471 (S Rryain Rt epimiamm
AR sraferEm 2

c(g; o Sestnr Afh (&) wors Fik
an e A
(C) Jogesh Chandra Chatterjee (B) SCIRA &M
(D) Sachindra Sanyal il (C) Gitsioey BiibifE
DL (D) =B DT

94, The three new criminal laws in Bharatiya 94, SIS VNIRRT 76 g R

Nyaya Sanhita came into effect from W P T TR
» (A) July 1,2024 (A) 1FR, 2024 R
(B) June 1, 2024
(C) June 24, 2024 (B) 1797, 2024 (= [
(D) April 1,2024 (C) 245, 2024 RF &
D) 1 «fge, 2024 QT

95. Whofounded the Hindu College of Calcutta
in 18177

95. 1817 A= ISl B Iw @ &lfewl

- AR
®) willam lons O iitiia
€5
(O) Raja Rammohan Roy B) e @
(C) @ AT AW

(D) Henry Louis Vivian Derozio

AAUNBREAARRAAERA X DTRARORAREACRARBREBOTTIRARERAAABRABEE AR AR R E* K

D) =fs =2 fefeam feraifire

% Please Turn Over
=
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96. If A’sincomeis25% morethanB’s, thenby
what percent is B’s income less than A?

7
(©) 30% =]
®) 15%

97. Who has been awarded the ‘Pen Pinter
Prize’ 20247
{A) Amndhati Roy
{B) Sanjana Thakur
{C) Anita Agnihotri
(D) Jhumpa Labiri

98. - 10 workers can complete a job in 20 days.
After 10 days, 50% workers leave the job. How
many more days are needed to finish the job?

(A) 20
®) 5
© 15
(D) 30

99. Which of the following noble gases is used

in the treatment of cancer? .
(A) Helinm (=11
(B) Argon '@
(C) Krypton
(D) Radon

100. Thename ofthecyclone ‘Remal’ was given
by which country?

(A) Thailand

(B) Bangladesh

(C) Oman

(D) Sri Lanka

AUAEBPREEXREEAABBA R IEBARIEBIRRTFRVIVAIROCREPEOTIEANARE AR AR H Kk K

C-20

96. I A7 SN B9 (AT 25% @M o/ OF
B-3 §I¥ AT (AT *oT4! T TN A2
(A) 20%
(B) 25%
(©) 30%
(D) 15%

97. (2024 I (o4 (A0 AT S IR 2

(A) SIFFo! A -
(B) Jiemt 3FF El =
(€) =it wfRar [x]

@) =i ARE

98. 10 T A G & 20 W TS e |
10 e AT 50% 3 6l (G (7R | PG I TS
RS Tl FHE FE 2

(A) 20
®B) 5

(© 15
(D) 30

99, e @ Mg s iR Bl
CTikY
(A) Fmm
(B) Wi
(©) Fa
(D) .El,ﬁ?éﬁls.
]
100. 3R o FFRIG ‘@RT-QF WP I
(A) D
(B) Aeeet
(C) &
(D) Rerst
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1. Replace the underlined verb with the * 6. Choose the correct option to complete the
appropriate phrasal verb from those given below: : sentence:

Please postpone the decision till Monday. & The_ cooked by him.
A) put off ® (A) food was
i @ﬁ[ﬂ (B) foods was
(B) putout o ]
ull off [=] (C) fooding was
(© pullo ) (D) food were
(D) pull out

2. Rewrite the following sentence in the
comparative degree:
This is the least expensive shirt.

7. Replace the underlined verb with the
appropriate phrasal verb from those given below:

Experts are trying to discover the cause of

(A) This shirt is not so expensive. the accident. EHE
(B) This shirt is a little expensive. (A) find under l"?'-%x"g
(C) This shirt is less expensive. (B) findin I=:
(D) This shirt is too much expensive. (C) find out

(D) find inside

3. Arrange these groups of words in their
correct order to form a logical sentence:

M. to protect the Hasdeo Aranya forests 8. Choose the correct option to complete the
N. from coal mining sentence:
0. Alok Shukla led a successful campaign Birds build nests in trees.
P. known as the “lungs of Chhattisgarh” (A) their
(A) PNOM hi
(B) OMPN g i |
(C©) NPMO
(D) MONP (D) her

4. Fill in the blank with the correct modal 9. Complete the following phrase with the

verb: ) ) appropriate word.
. Since you broke his camera, you A in a China shop
buy him a new one. - '
(A) should E5E (‘(;; z::s"'
(B) would ﬂﬁﬁ .
(©) will [=]: © ;au‘;;’“
(D) may ©

5. Replace the underlined verb with the

10. Selectth ichis similarin meanin
appropriate phrasal verb from those given below: Select the word which iss mm 5

PhERBERABEAKRREARTRAERRPARER R RO TOROTTATROAERASR AR N

‘Evidence’:

The thieves escaped with the stolen money. o Evicdence EHE

i (A) Papers SRR
(A) getting away L ﬁ
(B) gotin (B) Documents [m]:
(C) get away (C)} Accounts
(D) got away (D) Proof

(=15 ]

2
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11. What is the synonym of the word languid? %
(A) Launghter
(B) Lazy
(C) Lamp
(D) Litter

12. What does the word severed mean?

(A) Severe

(B) Cut-off (3] ]
’ (C) Excess mﬁ

(D) Diminish f=:

13. Change the following question into a
statement:

Aren’t you older than your sister?
(A) Youhave been older than your sister.
(B) Your sister is older than you.
(C) You were older than your sister.
(D) You are older than your sister.

14. Change the voice:
The mason is building the wall.
(A) The wall is being built by the mason.
(B) The wall-building is being done by

ARBEAAPRA X GBAREIBAFOCREBERTITRAEIASOTIBOTEFRRBEAABTB AR E R

16. Replace the underlined word with the
appropriate idiom from those given below:

Considering the urgency of the case, we

must act quickly.
(A) Infact @;;IEI
®) In lieu of Eﬁ
(C) In view of )

(D) In course of

17. Change the following statement into a
question:
They had been waiting for her for two
hours.
(A) Weren't they waiting for her for two
hours?
(B) Hadn’t they been waiting for her for
two hours?
(C) Won’tthey wait for herfor two hours?
(D) Hadn’t they waited for her for two
hours?

18. Choose the correct option to complete the
sentence:
I travel to my office the metro
railway.
(A) by
{B) under
(C) through
(D) with

19. Fill in the blank with the correct modal
verb:

the mason. _ You S have d.one a bit more to
(C) The mason built the wall. help ms(tza;d of leaving everything to me.
Th i th . can
(D) The wall built by the mason B) could EIﬁ;jEI
. M
O win i
(D) shall :
15. Fill in the blank with the appropriate 20. Fill in the blank with the correct word:
preposition from those given below: The medical reports got of the
Weshouldrely ourown efforts. diagnostic centre. -
(A) about 3 = (A) swapped
B) in Wl B (B) swiped
(©) on m x (C) stunt
(D) with * (D) swish
? =l Please Turn Over
=
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21. Selectthe word which s similarin meaning
to ‘Discrepancy’:

(A) Diffuse [E]4j[a]
o Ve S
(C) Variance '
(D) Analogy

22. Change the following sentenceinto passive
voice and select the correct answer:

1 will consult the resources at the archives

and undertake a tour across the city.

(A) Theresources will be consulted at the
archives and a tour across the city will
be undertaken.

(B) Theresources will be consulted at the
archives and a tour across the city
undertaken.

(C) Theresources will be consulted by Iat
the archives and I will undertake a
tour across the city.

(D) Theresources will beconsulted by me
at the archives and a tour across the
city will be undertaken.

23, Replace the underlined verb with the
appropriate phrasal verb from those given below:

Please remove your socks before you enter

the room.

(A) bring out
(B) bring down
(C) take off
(D) takein

24. Complete the following idiomatic
expression.

Make while the sun shines.
(A) hurrah
(B) hay Ej.;jm

N
(©) haste
(D) hatrick Elf.‘é

25. Complete the following sentence:

She sea-shells by the sea-shore.
(A) sales
{B) sells
{C) sale
(D) sell

]

%ﬁ;
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26. Change the following sentence into an
affirmative one:

The two brothers are not unlike each other.
(A) The two brothers like each other.
{B) The two brothers are like each other.
(C) No two brothers like each other.

(D) Thetwobrothers, theylikeeach other.

27. Replace the underlined word with the
appropriate idiom from those given below:

He visits me occasionally. E jﬁm
(A) off an on ol T
(B) off the cuff Elﬁ
(C) off the record
(D) onthe go

28. Choose the correct option to complete the
sentence:

Sita her mother.
(A) resembles

(B) have resemble

(C) has resemble

(D) resemble

29. Fill in the blank with the appropriate
preposition.

We will let you know about the pracess
due course.

(A) at

(B) in

(C) upon

(D) for

30. What does the expression ‘Janus headed’

{A) Talkative é@;"’.‘jm
(B) Hypocritical Eifa;ﬁ
(C) Critical

(D) Argumentative

-2
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31. CTBT is a term associated with
(A) Nuclear Weapon,
(B) Central Taxes
(C) Intemmational Terrorism
(D) None of the above

32. 10 workers can complete'a job in 20 days.
After 10 days, 50% workers leave the job. How
many more days are needed to finish the job?

(A) 20
® s T
s © 15 Eﬁ
D) 30

33. Attorney General for India is appointed by
(A) The President
(B) The Prime Minister
(C) The Chief Minister
(D) both Houses of Parliament

34. X can finish a job in double speed of Y. Y
alone can finish the job in 24 days. If they work
together, in how many days they can finish the
job?

(A) 8days

(B) 16 days
(C) 10 days
(D) 12 days

35. Which state organised National Yoga
Olympiad (NYQ) from 18th to 20th June, 20247

(A) Madhya Pradesh -
{B) Karnataka :@jﬁjm
(C) Haryana =]

(D) Jammu and Kashmir

SLC/23-D-3190088/05

4
th

AU UBEAAKBRAADTEAX R QPO ERBOFARERARIVRITRORAARATBA AR AL AKRFTRAAHK

B son

31, CTBT iR @wioa A T=5ye?

(A) i oy

B) @ET 9 Ea [

(C) TEEEs AR ST
(e

®) S @i

32. 10 T 5 @B PG 20 T FA00 2|
10 T4 #1T 50% T BIeF (0T (7 | AL 1T FAS
HiRe FOM I AE 2

(A) 20
®B) 5
©) 15
(D) 30

33, GfA0ed SR Iz i wid e e
(A) A7
(B) SamaE
(C) T

(D) AR OO %

34, X 9T 1w Y-99 faad «fore s $a0s
1 'Y 931 FiE 24 Mo F90 #IE | ol oy

PG T Fo T FEo 77 LR
@) 81?% %{JEI
B) 16 =
(C) 10 E-ﬁ
(D) 127

35. I Arey 183G — 200 T, 20249 TS
G SRTRARI (NYO)~I9 SIS FCiRe ¢
(A) e
®) Fios
(©) At
(D) &9 8 FTF
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36. Ganga water is being shared at Farakka * 36, Fisigl (Uts Sl ARG SR 6! & (1)

with which one of the following countries? X iR 1 AR TS, G =
(A) Nepal E?;] [ (A) @A
(B) Bhotan :‘}'ﬂ, y (B) @Iﬂ |
(C) Bangladesh E]Efﬁ O et |
(D) Myanmar ED; N |

37. In which state is ‘Boita Bandana’

37. W A @IF e cifFro =@ e

celebrated? A e
& Oisha o o EyE
® e ipull o
(C) West Bengal © ’ .
(D) Meghalaya (D) R

38. The Hindusthan Republican Association 38. 192471 (& R Rt hieT R

was founded in 1924 by sifodt Tl
(A) Bhagat Singh (A) ©ste g
(B) Chandra Sekhar Azad . @) :
(C) Jogesh Chandra Chatterjee
(D) Sachindra Sanyal © mm*rw 2
(D) *Ibie Hllet

39. IR Wi 12%% T e G
O 651 216 AR TR | 1 S5 SIS

| 1nl
39. Areductionof 12—2-% inthe price of oranges

enables a purchaser to get 2 more for ¥ 6. The

reduced price of a dozen orange is mﬂm ZEY ey %21
(A) T450 et (A) 4-50 it
®) 5 [=]: (B) 5B
(C) T350 (C) 3-50 51
®) T550 (D) 5-50 Biet

40. The speed of a boat in still water is § km/hr
and the speed of the stream is 4 km/hr. Find the
time taken by the boat to go 48 km down stream.

(A) 12 hours

40. 27 o G0 Tl siferaet 8 Bl w
@&ITST siferast 4 b/ | Eves S 48 B
WWWWWW@WWI

XA KRBRELEKBEFABBAXRGBDOBIEROIBAERBFBAOG ROV BIAPAAEAARRER RSB AARR D

(@) 4 hours (*(]‘;; 12‘:? %{;,j[il
(C) 8 hours (C) 8%t l‘Elg%
(D) 6 hours D) 6t

=l 3]
=
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41, The boys of a school can be arranged in
15, 18 or 24 equal rows and also into a solid square,
Find the least number of boys in the school.

(A) 4900
B) 2500
(C) 3600
D) 6400

42. The product of two numbers is 4,332 and

3
their quotient is — . Find the sum of the numbers.

(A) 136 @ﬁj;l
(B) 133 3 :
(C) 143 Elﬁ%
(D) 149

43. A bike 2m long crosses a 22m long bridge
in (-8 sec. At what speed in km/hr was the bike
travelling?

(A) 30 km/hr
(B) 108 kn/hr
(C) 60 kmn/hr
(D) 25 km/hr

44, Which country launched the ‘Cleanup to
Clean Energy’ plan?
(A) India
(B) USA
(C) Japan
(D) Germany

45. IfA’sincomeis25% morethanB’s, then by
what percent is B’s income less than A?

AEUBERABIAAKERERNAITRERARARREERATROITRABAORALERRNBBAANBEAR RS I R AR

41. 3% ReaEs Pamd T RYS gaikfs
15, 18 SIQt 2475 I HTS AT T =R SItE S
Rt 2+fomme A=E w91 @ Roem seee

TouA B IR ol FE | EIEEI
(A) 4900 :Tﬂgg
B) 2500 [=:
(©) 3600
D) 6400

42, 76 MY odFe 4,332 R OIMT

mﬁw%mwﬁmmﬁ@wn

(A) 136

(B) 133
(C) 143

(D) 149

43. 2 fSi5i= o7t @l 3T 22 folE =t a3l
TG 0-8 GRS fee F | AR it

fef/a%m Fo2
(A) 30 =R/
B) 108 R =
(C) 60 ffif=s
(D) 25 /=2

44, @ o Granet § @ «ifee sifast st

(A) ©F® AL
(B) e Y=g E]fﬁ
(C) el
D) wififH

45, I AT S BT (WD 25% @ =W\
B9 ©iF A-9 (AT *oFq] F9 T AT

(A) 20% [=]2j[] (A) 20%

(B) 25% ﬁﬁgﬁ B) 25%

(©) 30% I=l: (©) 30%

D) 15% D) 15%
E_ [=] Please Turn Over
=
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46, The ratio of the prices of two products X  *

and Z is 1 : 3. If the price of another product Y is

*

GET IT ON
Google Play

46. P T X IR Z-99 T FAC = 1: 3|

* 3ft wey ol 78 Y-97 T @ T 40, G X @}

%40, which is the average of the prices of X and Z, 5, Z-4% &0 916, IR Z G X9 J=1F AL

then the difference between the prices of Z and X

18
(A) 20
®B) T60
(©) T30
(D) 340

47. The SI unit of radioactivity is
(A) Cobalt
(B) Decibel
(C) Ampere
(D) Becquerel

48. According to the Indian Constitution, who
has the power to declare an Emergency?

(A) Prime Minister
(B) President

(C) Chief Justice
(D) Parliament

1 494
49, The value of -5-+ 999Ex 99 is
{A) 99000
{B) 9900
{C) 98000
{D) 95000

SLC/23-D-3190088/08

[I3)0e]

G

(=130

GEE:

AEAXDIBAXBEAAERAN BEVEIPEVT RIS FTREIRTITEROR BTV OBARANDRLERARB D R,

ESE
=

& IO°

(A) 20
®) 60
(C) T30
(D) T40

47, (SufEeR L W v A[E]

iz

(A) FIEF [&];
(B) CsFiE=
(C) i4aE
(D) e

48. S TRy SR et wwld waE

49.

T 99 Hol DT AR

(A) SawR

(B) AZA®

(©) aqi= R[tgeife
(D) ALM

l+999ﬁx99—¢1§sn:{

5 495 EHE
(A) 99000 o
(B) 9900 Elﬁ
(C) 98000

(D) 95000
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50. A 40 litres mixture of milk and water *

contains milk and water in the ratio of 3:2.
10 litres of the mixture is removed and replaced
with pure milk and the operation is repeated once
more. At the end of the two removal and
replacement, what will be the ratio of milk and

water in the resulting mixture?
(A) 31:9
(B) 4:1
© 7:3
D) 24:13

51. Which sport has the maximum number of

players on either side?
(A) Rugby
(B) Water polo
(C) Baseball
(D) Soccer

52. Who painted ‘The Starry Night’?
(A) Pablo Picasso
(B) Vincent Van Gogh
{C) Claude Monet
(D) Salvador Dali

53. Micron is set to establish India’s first

semiconductor plant in which state?
(A) Tamil Nadu
(B) Gujarat
(C)’ Maharashtra
(D) Uttar Pradesh

SLC/23-D-3190088/09

1
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x s 40 Telbta w1 o 7y 7Y 8 TeTy Wit
x 3:21 63 fipd e 10 FoE feed g e
8 Fysifaict gy fiftrs st ae | @2 1A A wae
® i T 2| g T Y T AT T ?

(A) 31:9

B) 4:1 s
©7:3 B
(D) 24:13 Elﬁ

51. (O cdEie Tor i TRem /N RS

EHE & e ez e
%9’ A) TR
) (B) euo oAt
(C) @
(D) Fo<=

AARBEARREA ARG A A DA S P L O RAB BRI TR IV RO OTR T OIRR BB RKRBRA

52, W 361 A’ & G

(A) iR feisie ;;%3;5'5'
B) ToGTS S stot [=:

(C) §9 W15

(D) HATema B

53. ©lE0ST AW CINFSIF 215 TR Fo

FA0S TS (I =2
:%%]EI (A) SfEAT
af @B) wTEG
(C) W18
D) Teaeieet

E
L
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54. Inwhichyear Sikkimbecameafull-fledged * 54, w3 R eiareq 9of <% Tt =AfH®
state of India? Ak
(A) 1947 (A) 1947
(B) 1965 [=]5][8] (B) 1965
(© 1975 :ﬁ'—gﬁ (C) 1975
(D) 1985 [=; (D) 1985
55. What are Jatakas? 55, GIeT fe @__&jm
(A) Stories of Ram and Sita (A) T e o 15 ig*,gﬁ
®) Poex‘ns written on b.irds at.1d animals B) AR ¢ 2ifitim P = IRt
©) ]Sgi;);lga(}f the pervious births of the (©) Toa o
(D) An Epic (D) <=6 TG

56. Which Union Ministry hosted the ‘Divya
Kala Mela’ fair?
(A) Ministry of MSME
(B) Ministry of Social Justice and
Empowerment
(C) Ministry of Defence
(D) Ministry of Science and Technology

=30

o

57. Out of two numbers if the first one is
increased by 20% and the second one is decreased

AAUFEAEABEAABEAAQAERREITXARR IRV ROFTAORAABEAARREA AN BRAXR D K%

56, (I @R TN “TT T @A@T
FEfEE e

(A) <. . @5, B, T

(B) e Tinficla ¢ wrem YEHeE
(C) elfows! s@elier

(D) fwi @ eyfe Jaeie

57. w5 Aewis W 2ALabes 209% I FEE @R
R 20% T FIE IRUMG AW 24 | 22 S

by 20%, they become same. The ratio of the first e :s[gamliﬁq_ QiG]
and second number is (A) 3: zﬂ' h mf-&jm
s
% % : ? € 1:1 :
: 3:5
®) 3:5 ®)
[s] % []
A
[=]
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58. A got twice as many marks in science as in
English. His total marks in English, Science and
Mathematics is 180. If the ratio of his marks in
English and Mathematics is 2 : 3, whatis his marks
in Science?

(A) 40
B) 60
(© 70
(D) 80

59. The LCM and HCF of two numbers are
2175 and 145 respectively. If one of the numbers

is 725 then find the other number. HE
(A) 425 :‘ff“g
B) 315 =l
(C) 435
(D) 450

60. Whoisknown as the ‘Father of Geometry’?

(A) Aristotle
(B) Euclid
(C) Pythagoras
(D) Kepler

61. A, B and C together earn T 300 per day,
while A and C together earn ¥ 188 and B and C
together earn ¥ 152. The daily earning of C is

(A) T40
(B) T68
©) T112
D) T150

62, Jude Felix is a famous player in which

field?

(A) Volleyball %-—E"j ™
olley . 3

(B) Tennis Elﬂ%

(C) Football

(D) Hockey

SLC/23-D-3120088/11
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AEADBEAEKDTBAADSBA XN AIBOIFI BRI RRRBOARARRARANPRAOIRANBEAAD RS D * AR

ﬁﬁ

58, ARES T8 7R (AR el o et
TR (SR | O1F 28R, Rt e e @it =4 180,
T 30 @ WRE el AT SIS 21 3 W, O/

R oig e $o¢

i
® o G
(B) 60
©) 70 el
(D) 80

59. v MYF FALG. 8 AALS, TUFH 2175 '€
145, T G376 A5 725 2 SIE o TIB T
of e T

(A) 425
(B) 315
(©) 435
D) 450

60. T[RT waF T b &2

(A) uifEooa
B) efFe
(C) THAmsiER
(D) ==

61, A,B8C e 955 (i 300 BI Soie
I 1SR A8 C G0 188 B 132 B @ C =l
152 51 (7R T 9 | C97 s Solleta %

At

(&) 40 BRI =] 0]
(B) 68 5t Pk
(©) 1125 [=:
©) 150 5=t

62. TG (T (T CHETE G RO ITTRIG 2

(A) e
B) G

(©) B

D) =
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63. Acid rain is due to increase in atmospheric * 63, Jgwate @By TR IRE IiEE Wite iﬁ

concenfration of TH—
(A) Ozone and Dust EHE (A) et@ @ et
CO, and CO e
B) CO,an [&]3 (B) CO, 9k CO

(C) SO,and CO

(C) S0,€RCO
(D) SO, and NO,

(D) SO, 4R NO,

LAV

64. ‘FALCON Shield-2023’ is a military 64. 3 ™of ‘FALCON Shield-2023° Aif@s

exercise participated by which countries? TRE SeieRe FERE E § m .
(A) India and USA (A) i @ M TEald ;,Jg'_u-j : €
i (B) Chinaand UAE (B) B & ¥Ixge wiw @iiase Eﬁ
{C) China and Russia ) )
(C) B e Fifmt

(D) India and UAE
(D) ©IFS YR Y& WF =6 |

65. Thename of the cyclone ‘Remal’ was given 65. 9 o7 ‘iﬁﬁl@ ENE AT AT AR?

by which country? (A) WS
(A) Thailand ;
(B) Bangladesh ® =
(© Oman (C) &=
(D) Sri Lanka D) &

66, Two trains travel in opposite directions at
36 km/hr and 45 kmo/hr and a man sitting in slower
train passes the faster train in 8 seconds. The

wofAle 45 fi/ a0 siferatst Tiat Fa <2 Fasfe

66. 4% Reifloq G @b 36 BR/T6 e
o G 96T O9F I TS T G ‘

AAEXBRAKBEAASBAA DB EIRENIARIRRIBITTCRANORIBATIBOOBAUAREERARSBAARRE & X

length of the faster train is EHE SWWWIWWWWWEE
(A) 80m LR '
®) 100m BELs (&) 80F &3]
(C) 120m (B) 100 fE rr:‘;gﬁ
(D) 180m (C) 120" [=]:
(D) 180 Fb™

[=19[=]

R

Dzt
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(A) The British Museum

(B) The Louvre

(C) The Metropolitan Museum of Art
(D) The Uffizi Gallery

68. Find the smallest number whichis divisible
by 7 and when divided by 8, 12, 16 leaves 3 as
remainder in each case,

(A) 140 @ﬁjm
(B) 147 Elgé
(©) 154 :

D) 133

69. The three new criminal laws in Bharatiya
Nyaya Sanhita came into effect from

(A) July 1,2024
(B) Juze 1, 2024
(C) Tune 24, 2024
@) April 1,2024

70. Norway, Germany and Finland reported
which disease on fur farms and mammals?

ok

e

(A) Anthrax

{B) Avian Influenza

(C) Foot and mouth disease
{D) Bluetongue

SLC/23-D-3190088/13

D-13

67, In which museum is the ‘Mona Lisa’ kept? *

KAKBEAXBSRABBZ AKX RIQTIEEROPOBIEIEIBNCRATBOBAAFIATIERARBAADBR AR kN

L
=

(A) w f&iox Fefkmw

(B) Wared

(C) W Ggisfeiee G s e =it

D) w SR s (]3] [W]

GEZ:

68. 7 far fRrerey qx= Haes i fa s 3
8, 12, 16 Tuzar o1 e @lfS o 3 SisieetE A |

(A) 140
(B) 147
(C) 154
(D) 133

69. SIS IR HRN [ T CFremiE

(A) 1TEIR, 2024
(B) 17T, 2024 (A6

(C) 24 T, 2024 (RF
D) 1 4=, 2024 A

O

EE

70. 26T, T G Feaeie i IRig gR
B et I catrsin fReellt e

(A) SO=aE

B) TR TFwet
(C) #l'8 YA Gl
(D) = e
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71. Whofounded the Hindu College of Calcutta *

GET IT ON ‘
Google Play

71. 1817 iE oo &% IEw & aAfost

in 18177 BICER
(A) William Carcy E13)E] (A) S R
(B) William Jones ﬁgﬁ
: =: (B) O3t ceitet
(C) Raja Rammohan Roy
(C) e =

(D) Henry Louis Vivian Derozio

72, Who won the Norway Chess Super
Tournament, 20247

(A) Fabiano Caruana
(B) Hikaru Nakamura
(C) Gukesh Dommaraju
(D) Magnus Carlsen

-

73. The average weight of the first 11 persons
among the 12 persons is 95kg. The weight of the 12th

(D) i o fofeam feraiftne

72, & TASW G YA FHGTS, 20249 R

Freet
(A) R e @ﬁjlﬂ
®) Bl anmt Efﬁ
(C) T oIy
(D) isi A

73, 12 &« & T30 2499 11 SHE 5T STH

95 et | 12 OF Jied oT 12+ &1 50 ST

personis 33 kgmore than the average weightofall the afEg _
12 persons. The weight of the 12th person is e 33(1;21116;?1;;? 12 9% e et
((g; ;ﬁ];gk (B) 97.45 Foai
45 kg [®]4][s] (©) 128.75 Reatt
(©) 128.75kg TR O 131 ot
(D) 131kg [=]:

74. Which institution has developed the

E R XRE R L XE R KRR R R R R R R R e R K R AR R R R R Rk R R R TR

74, AT ARAW B0 S UDGAM ot

UDGAM portal, recently seen in the news? G ARSI tof Tmme
(A) RBI EE
(A) =19, . 53,
(B) NABARD @) :T%
(C) SIDBI e [=]:
(D) SBI (©) <. w6 R i,
(D) <. R =R
[u] 52 [x]
ofed

SLC/23-D-3190088/14
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D-15 SLC/23
75, Whi;h :;i)f the following is the longest cell of 75, ferafeiRe @ TRt Ao @R e
the human body? (A) g Gl ;
(A) Nerve cell (B) W oI %_JEI
(B) Bone cell oo E
(C) Muscle cell (©) oil® PR
(D) Blood cell (D) 9% @™

76. Four bells ring at an interval of time 45
minutes, 1 hour, 1 hour 15 minutes and 1 hour 30
minutes respectively. At 12 noon 4 bells ring
together. Calculate the time when will the bells
ring together again.

76. S <t 45 WFG, 1 9%, 1 9%t 15 G 8
1 Tt 30 RFG weg W= &= 12 i el
G AR 91T SR P G310 e ot Refar
@ |

(A) 3am D) it
8) 3pm b pm
(D) 4pm (D) 4pm

77. A 250 meter long goods train is running in
33 km/hr. In aparallel track, a 200 meter mail train
is running in a speed of 60 km/hr in the same
direction from behind. How much time the mail
train takes to cross the goods train after it reaches
to the goods train?

77. &6 250 flbiT 718 TG 33 Reefis/=s
05! B5R1 G TR G 46 NG WET
a3 WA 60 RRefle/a: @t o (AT I
R | AQRIE G TEsiE )i o «i9
CIbTE Ao F400 F T ([ ?

(A) 2fifE

(A} 2 minutes Ei
(B) 1 minute (B) 1% 3£L-
(©) 1.5 minutes © 15RR5 Db
(D) 3 minutes (D) 3

78. In a class of 45 students, all students
participate in one or both of the two games i.e.,
Chess and Badminton. 11 students participate in
both the games whereas 17 students participate
only in Chess. How many total students participate
in Badminton?

AEABEARBRBARBOAK QBN IBRTETEIPIEERNTIRAAIBECRNAATAIBAADERANDR AN D D %A%

78. 45 T e b v s el wa
GR FIGHB AT B WL FHreR T
AR | 11 TH DTG (A Seeleize R @
17 o 24 (FRETI9 IR (A0S Sz SEeR | (G
TG BIE FIGRGA (AT eieg S ?

(A) 17 students Eﬁ (A) }’llgm

(B) 11 students TR ®) )

(C) 28 students Elﬁ (©) 28T &Y

(D) 6 students (D) 65T
E 2 Please Turn Over
[~
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79. Where was the ICC Men’s T20 World Cup

*

D-16

79. 2024 SEFR = B20 RewiA @

2024 held? e zfiers
(A) USAand UAE (A) TB. . 9. 92T/, 0. 7,
(B) Oman and Yemen EiE
(C) USA and West Indies ':i‘s&i% (B) SR 4R A
(D) USA and England [=]: (C) TE. 1. ¥ GR ST e
(D) TB. <. ¢, IR LS

80. In aclass, the ratio of the numbers of boys
and that of the girlsis 11: 9. If30% of the boys and
20% of the girls passed the annval examination,

80. b @fdrs TS e AT TRUIT SAfe
11:9 19 TETa0Ra 30% 3. APRAITE 20% AR

find the percentage of passed students of the class. T R o R |
((g; gggg (A) 28:5% %{:JEI
(©) 24:5% (B) 25:5% iilﬁ
- (C) 24:5% :
(D) 23-5% D) 232%

81. Which of the following is not the unit of
energy?

81. A5a @Al *feT 9T 1

(A) &
(A) Joule R
(B) Kelvin (B)
(C) 2FTeGA-COFD

(C) Electron-volt
(D) None of the above

82. When was University of Calcutta

(D) SoEa @EivE W

82. Thme iRy s Akiw 24k

established? . AR ?
(A) 1857 El%]lil
® 0 T
(C) 1847 ) (B)
@) 1900 (C) 1847
®) 1900

'83. First Indian Woman to swim across the
English Channel—

(A) Arati Saha

AUKDBEABBAASTAAX PRI B ARV AR RATRSIBATBOTEAABI ARG AARBBAK

83, e oS e R e A awm e
BIAET— E-J:-i;,jl‘.iﬂ

(A) == w2
(B) Arati Mukherjee Elf:g
(C) Bhakti Sharma (B) wi=f® {mﬂw
(D) Anita Sood (©) ofes *iiff

(D) wfvet 7w

A

SLC/23-D-3190088/16



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2M

D-17

GET IT ON

84. Which of the following noble gasesisused * 84, SiacwREA SEFETPRrwmIRTe

in the treatment of cancer?
(A) Helium
(B) Argon

(C) Krypton
(D) Radon

85. The cost of 12 belts and 30 wallets is
¥ 8,940. What is the cost of 4 belts and 10 wallets?

(A) T2,780
B) 2,870
(C) 2,890
(D) T2,980

-

O

GEE

86. What percentage of numbers from 1 to 70

have 1 or 9 in the unit’s digit?
(A) 5%
(B) 25%
(C) 20%
(D) 30%

87. Who has been awarded the ‘Pen Pinter

Prize’ 20247
(A) Arundhati Roy
(B) Sanjana Thakur
(C) Anita Agnihotri
(D) Jhumpa Lahiri

88. How many squares does achessboard have?

(A) 65
@) 32
(C) 64
D) 99

SLC/23-D-3190088/17

e
T ) e o
(B) s Elf;ﬁ
(C) BFo
(D) &

85. 12 % @5 9 30 b <ui=THa Wi 8,940 Tt
7 4T (% @ 10 6 eTE=iha vy Fo
(A) 2,780 Bl
(B) 2,870 5=t
(C) 2,890 Bt
(D) 2,980 B

86. 1 (RCF 70-99 WY *oFq Foul Ry
GFF-OT T TED 19 97

(A) 5%
B) 25%
(©) 20%
D) 30%

87. (2024 G ‘oI IO 23 AIS TR 2

@A) W@;;: @ﬁjﬁl
(B) el I T
(©) =ifvet wfiRd E--}:%
(D) =i =R

88. I WIAIAITE FAH ITH A2

¥UBRAEKBFRAUTRTIIFIRTIRTREBBRNAEOR ORIV ANTEANEKREARD R %K

5 2 {(A) 65
;%.JE &® B) 32
EEE* O
* D) 99
E E Please Turn Over
[=]%=X%
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89. Atankercanbefilled by two pipes A and B
in 60 min. and 40 min. respectively. How many
minutes will it take to fill the tanker from empty

state if A and B fill it together? .
(A) 24 min. :[:jg_kl‘jm
®) 26 min. ' Eligﬁ
(C) 22 min.
(D) 28 min.

90. Amal and Bimal started a business. Amal
invests T 500 for 9 months and Bimal invests some
money for 6 months. If total profitis T 69 and Bimal
gets T 46 then the amount of investment of Birnal is

(A) T 1500
(B) T 300
(C) T450
(D) T 600

91, Deficiency of which vitamin causes night
blindness?
(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) VitaminD

92. Which of the following is an example of
Bluetooth?

(A) Wide Area Network

(B) Local Area Network E.jE
(C) Personal Area Network ﬁiﬁ
(D) None of the above =]

93. What is the name of the first ‘private’ train
run by the subsidiary of Indian Railways, IRCTC?
(A) Tejas Express

¥* %

AAAKBEAARBTEA A BB AR XA DRI ETRRRABRRTETAPAIRABTITEOARKARBAARTRA RS K

89. <37 BiEig A B 1 «ifes fiw ©fF wave
e 60 TG @ 40 RifF6 T =rieat | <ifé =g
BiEbeE A€ B 1 #iide gt 9 A o
FALS T TN A2

(A) 24 Rf {6
®) 26 FifHG
(©) 225 %
(D) 28 TG

90. = @ e Gl T oF TAEE | W16
OV &AY 500 DI . [T 6 NS & 9 Bil
FiR T | 3% IS 71 69 B T =R TN (A

Rt 46 519t s % R =1fy) wafeEe—
(A) 1500
(B) 300 i g—l;_ﬁijm
(C) 450 5t Elﬁ
(D) 600 G

91, @ FeOIfficia wISiE AisHi-l @5l 24 ¢
(A) fohifsF g
(B) Febifiiw fq
(C) TebifH &
(D) feoifF ©

92, JpR @A FHY-«a Srigge 2
(A) &AEE gl Een
(B) EIR «ff e end
(©) ~ArtimE o Gosad
(D) Tz e 7

93, SR FEerET TR 7 IRCTC =i
bifFTe =9 ‘eiZres’ GeE A e EI&]EI

A or2-
(B) Swam Shatabdi EB; %‘@W Elﬁ
(C) Gatiman Express _
(D) Duranto Express (C) siesie e
(D) WE I
[=] X [=]
=
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94, Select the one which is different from the
others in the following numbers:
324, 441, 289, 326
(A) 324
(B) 441
(©) 289
D) 326

95. A group of students in a class of a school
collects ¥ 9,216. The amount contributed by each
student is equivalent to the number of students in
the class. Find the number of students in the class.

(A) 66 4
(B) 48 2@%
() 96 [=]:
D) 36

96. In which of the following districts of West
Bengal is the maximum amount of Tobacco
produced?

(A) Birbhum

(B) Bardhaman

{C) Cooch Behar

(D) North 24 Parganas

97. Recently, which of the following UT/State
was declared to achieve full functional literacy
under the ULLAS (Nav Bharat Saaksharta
Karyakram)?

(A) Ladakh
(B) Chandigarh
(C) Kerala
{D) Maharashtra

98. Which one of the following is the capital of

A UPEAABIAXTIX A RTFITFIETBRARGERREROARCAACEACRBALORAADRE DR %K B R * kK

Jordan? Eﬁm

(A) Havana Hﬁﬂ

(B) Amman =]

{C) Lagos

(D) Oslo
[=
: -
=

SLC/23-D-3190088/19

94, AT e @ S IHE SR
G1i Ftem <o

b\
324, 441, 289, 326 r@___b‘_‘jfm
() 32 Ok
(B) 441
({C) 289
(D) 326

95, 6 RoEeE < cifite o =g
(16 9,216 51! vy IR wae 1 9% (Mfiire Ioem glg
AT OO TRGF bt et | 9% R maRapt Fe
Frefer T

(A) 66

(B) 48
{© %6

D) 36

96, AFRTIER (@H @ AARS SN Bl

ie
(A) T
B) I
(€) HREE
(D) Tex 24 =951

97, Ar=iowiE @R Lo GREE (EifFe
GUE)/AE 8 G T @ G (FTSES Ee!
RGN —R oo o ATIOER TG e
AT

(A) T IR
®) v8le %’
(C) e '
(D) WRRIg

98. F=feRe AT SeHET AT 2
(A) Tot
(B) =
(C) =St
(D) =
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99, A train crosses a man, standing over a
150 m length station in 10 seconds and crosses the
station in 22 seconds, then the speed of the train is

(A) 45 km/hr
(B) 50 km/hr
(C) 60 km/hr
(D) 55 km/hr

100. What will be the ratio of simple interest
earned by certain amount at the same rate of

interest for 6 years and that for 9 years?
(A) 1:3
B) 1:4
€ 2:3
D) 3:4

SLC/23-D-3190088/20
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99, 3l G 10 GIEFTe 150 T tede i

: GO Tlg RelmaH O e Sfedy |
Ei_jlil z R 22, CIEITE FORIOCE SO@ I, SIZEE GAT
sifast < -
T ¥
%5’%‘% X (A) 45 Fefyms r@ﬁm
& (B) 50 fsfii/=e Eﬁ
* (C) 60 m/=s
; (D) 55 fefiy/=s
®
E
*
& 100, 9o LT AN A A 6 W|F G=R
& 0 IRF-GF A T WIS TS HA?
> (4) 1:3 [=]5[s]
mgme DL G
‘-'j . B ©) 2:3 [=:
Li3ade o
Oh s (D) 3:4
®
8
&
&
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L+
8
&
&
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